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1-/3$Fl$<$5/$Do

EWRSVUQT5$=XZgd$^cdm^YVWaZ+$eVgi$cx$321///1.321/2/1
DVXQ5$NZ\�c$Za$Y^V\gVbV$YZ$XVWaZVYd+$ZhiV$jc^YVY$ejZYZ$hZg$
deZgVYV$V$01/$Q$.$3//$Q$n$35/$Q-

87/$m$284$m$15/$bb

81/$m$224$bb

33+1$F\- 41+6$F\-

FC$321/,12/$Q

321////0

1$Fl$<$4/$Do
1$Fl$<$5/$Do

0-52$Fl$<$4/$Do
0-60$Fl$<$5/$Do

FC$321/,?dbW^

321/2//0

?^gXj^id$ZmiZgcd9$EK$13
?^gXj^id$^ciZgcd9$EK$43

3-0$=$<$4/$Do
4-4$=$<$5/$Do

0-2Fl$<$4/$Do
0-5Fl$<$5/$Do

0-5Fl$<$4/$Do
0-8Fl$<$5/$Do

02-1$=$<$01/$Q
2-5$=$<$3//$Q
2-1$=$<$35/$Q

05$=$'O($<$01/$Q
1S5='O(<3//.35/Q,4/.5/Do

3/-0$=$<$01/$Q
4-6$=$<$3//$Q
5-3$=$<$35/$Q

?^gXj^id$YZ$V^gZ$ZmiZg^dg9$54/$b2.]
?^gXj^id$YZ$V^gZ$VgbVg^d9$36/$b2.]

96JEI $;B\8 JH?8EI

C[N )$<B K@E$9;$6 ?H ;

CED J6@; AmiZgcd

9?C ;D I?ED ;I$

"%!'!& !'!$#

Kdakd$YZ$VXZgd$#cd$

8EBE H$ M=G$6/24

[H;6$9;$8EHJ;$"%!'!&#

F;IE

LEBJ6@ ;*<H;8K ;D8 ?6

?D J;D I?969$6$B .0B.0

?D J;D I?969$C[N ) 5-3$=

11-2$=

0/$=$'O(

0-31$Fl

?D J;D I?969$9;$

6H H6D GK ;

FEJ;D 8?6

8ED IK CE$B.0B.0

C[ N)$FEJ;D 8?6$

8ED IK CE

<KI?7B ;

8ED ;N ?_D ?dcZm^�c$V$WdgcVh

FHEJ;88?_D$

?F$?;8$1+$0-4

8;H J?< ?8 68?_D ?A

12/Q,4/.5/DopI
01/$Q,5/$DopI

3//Q,4/.5/$DopI'1$[VhZh(
35/Q,4/.5/$DopI'1$[VhZh(

8-0$=$<$01/$Q,5/$Do
2-0$=$<$3//$Q,4/.5/$Do

1-6$=$<$35/$Q,4/$Do

0-17$Fl$<$01/$Q
0-15Fl$<3//.35/$Q,4/$Do
0-24Fl$<3//.35/$Q,5/$Do

C6J;H ?6B$9;$B6$86@6

CE9;BE

F6H J#DE

86F)$;D <H ?6C ?;D JE

B.0B .0

86F)$;D <H ?6C ?;D JE

B.0B 0+

86F68?96 9$9;$;D <H ?6C ?;D JE$9 ?D$.,13

J? FE$9;$8EC FH ;IEH ?dbegZhdg$MZX^egdXVi^c\

H6D =E$J;CF)$9;

JH 676 @E
1/x?$,$44x?
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A=$/./+A=$/..+

56+4$F\- 61+4$F\-

2$Fl$<$4/$Do
2$Fl$<$5/$Do

1-27Fl$<$4/Do
1-40Fl$<$5/Do

1-28/$Fl$<$3//$Q
1-4/4$Fl$<$35/$Q

2$Fl

FC$322/,12/$Q

322////0

FC$322/,3//$Q

322/1//0

C6J;H ?6B$9;$B6$86@6

FEJ;D 8?6

8ED IK CE$B.0B.0

C[ N)$FEJ;D 8?6$

8ED IK CE

?^gXj^id$ZmiZgcd9$EK$13
?^gXj^id$^ciZgcd9$EK$43

2-2$=$<$3//$Q
2-4$=$<$35/$Q

6-5$=$<$3//$Q
7-0$=$<$35/$Q

0-23$Fl$<$3//$Q,4/$Do
0-6/$Fl$<$35/$Q,5/$Do

0-55$Fl$<$3//$Q,4/$Do
1-0/$Fl$<$35/$Q,5/$Do

0-22Fl$<$4/Do
0-58Fl$<$5/Do

0-50Fl$<$4/Do
1-/5Fl$<$5/Do

?^gXj^id$YZ$V^gZ$ZmiZg^dg9$64/$b2.]
?^gXj^id$YZ$V^gZ$VgbVg^d9$75/$b2.]

96JEI $;B\8 JH?8EI

C[N )$<B K@E$9;$6 ?H ;

CED J6@; AmiZgcd

9?C ;D I?ED ;I$

"%!'!& !'!$#

Kdakd$YZ$VXZgd$#cd$

8EBE H$ M=G$6/24

[H;6$9;$8EHJ;$"%!'!&#

F;IE

<KI?7B ;

LEBJ6@ ;*<H;8K ;D8 ?6

?D J;D I?969$C[N )

?D J;D I?969$6$B .0B.0

8-1$=

14-0$=

8ED ;N ?_D ?dcZm^�c$V$WdgcVh

FHEJ;88?_D$

?F$?;8$1+$0-4

8;H J?< ?8 68?_D ?A

EWRSVUQT5$=XZgd$^cdm^YVWaZ+$eVgi$cx$322///1.322/1/1

CE9;BE

F6H J#DE

86F)$;D <H ?6C ?;D JE

B.0B .0

?D J;D I?969$9;$

6H H6D GK ;

86F)$;D <H ?6C ?;D JE

B.0B 0+

86F68?969 $9;$;D <H ?6C ?;D JE$9 ?D$.,13

J? FE$9; $8EC FH ;IEH ?dbegZhdg$MZX^egdXVi^c\

H6D =E$J;CF)$9;

JH 676 @E
1/x?$,$44x?

012/$m$4//$m$23/$bb

002/$m$32/$bb

05$=$'O(

12/Q,4/.5/DopI 3//Q,35/Q,4/.5/$Dop2

2S5='O(<3//.35/Q,4/.5/Do

4-5$=$<$4/$Do
6-5$=$<$5/$Do

1-0$=$<$3//$Q,4/$Do
1-2$=$<$35/$Q,5/$Do

58$F\- 61+4$F\-

2-06$Fl$<$3//$Q
2-24$Fl$<$35/$Q

FC$323/,12/$Q

323////0

FC$323/,3//$Q

323/1//0

?^gXj^id$ZmiZgcd9$EK$13
?^gXj^id$^ciZgcd9$EK$43

3-5$=$<$3//$Q
3-3$=$<$35/$Q

7-1$=$<$3//$Q
7-4$=$<$35/$Q

0-80$Fl$<$3//$Q,4/$Do
1-22$Fl$<$35/$Q,5/$Do

0-80$Fl$<$3//$Q,4/$Do
2-2/$Fl$<$35/$Q,5/$Do

0-77Fl$<$4/Do
1-20Fl$<$5/Do

1-3/Fl$<$4/Do
2-16Fl$<$5/Do

?^gXj^id$YZ$V^gZ$ZmiZg^dg9$0/4/$b2.]
?^gXj^id$YZ$V^gZ$VgbVg^d9$75/$b2.]

96JEI $;B \8 JH?8EI

AmiZgcd

Kdakd$YZ$VXZgd$#cd$

M=G$6/24

03-1$=

18-5$=

?dcZm^�c$V$WdgcVh

?A

8 6F68?969 $9; $;D< H?6C ?;D JE$9 ?D$.,13

?dbegZhdg$MZX^egdXVi^c\

1/x?$,$44x?

012/$m$4//$m$23/$bb

002/$m$32/$bb

1/$=$'O(

12/Q,4/.5/DopI 3//Q,35/Q,4/.5/$DopI

2S5='O(<3//.35/Q,4/.5/Do

3$Fl$<$4/$Do
3$Fl$<$5/$Do

2-07Fl$<$4/Do
2-25Fl$<$5/Do

7-8/$=$<$4/$Do
0/-1$=$<$5/$Do

1-8$=$<$3//$Q,4/$Do
1-6$=$<$35/$Q,5/$Do

FEJ;D 8?6

8ED IK CE$B.0B.0

C[ N)$FEJ;D 8?6$

8ED IK CE

C[N )$<BK @E$9; $6 ?H ;

CED J6@;

9?C ;D I?ED ;I$

"%!'!& !'!$#

8EBEH$

[H;6$9;$8EH J;$"%!'!&#

F;IE

<KI?7B ;

LEBJ6@ ;*<H;8K ;D8 ?6

?D J;D I?969$C[N )

?D J;D I?969$6$B .0B.0

8ED ;N ?_D

FHEJ;8 8?_D$

?F$?;8$1+$0-4

8;H J?< ?8 68?_D

EWRSVUQT5$=XZgd$^cdm^YVWaZ+$eVgi$cx$323///1.323/1/1

C6J;H ?6B$9;$B6$86@6

CE9;BE

F6H J#DE

86F)$;D <H ?6C ?;D JE

B.0B .0

?D J;D I?969$9;$

6H H6D GK ;

86F)$;D <H ?6C ?;D JE

B.0B 0+

J? FE$9; $8EC FH ;IEH

H6D =E$J;CF)$9;

JH 676 @E
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A=$/2+0$JEF A=$/2,+$JEF

[H;6$9;$8EHJ;$"%!'!&#

C6J;H ?6B$9;$B6$86@6

35$F\-3/$F\-

AcigVYV9$10/$m$08/$bb
NVa^YV9$154$m$08/$bb

55/R$<$4/Do
61/R$<$5/Do

55/$R$<$01/$Q,5/$Do
61/R<3//.35/Q,4/.5/Do

360////0 360/2//0

FC$360/,12/$Q

8//$R

?^gXj^id$ZmiZgcd9$EK$13
?^gXj^id$^ciZgcd9$EK$43

44/$R$<$4/$Do
53/$R$<$5/$Do

2-1$=$<$4/$Do
2-1$=$<$5/$Do

2/-1=$<01/Q.4-0=$<3//$Q
4-0$=$<$35/$Q

05$=$'O($<$01/$Q
1S2-5='O(<3//.35/Q,4/.5/Do

7-5$=$<$01/$Q
1-5$=$<$3//$Q
1-2$=$<$35/$Q

5-6$=$<$01/$Q,5/$Do
1-/$=$<$3//$Q,4/.5/$Do
0-7$=$<$35/$Q,4/.5/$Do

?D J;D I?969$C[N )

?D J;D I?969$6$B .0B.0

04-8$=

3-0$=

0/$=$'O(

?D J;D I?969$9;$

6H H6D GK ;

FEJ;D 8?6

8ED IK CE$B.0B.0

<KI?7B ;

8ED ;N ?_D ?dcZm^�c$V$WdgcVh

FHEJ;8 8?_D$

?F$?;8$1+$0-4

8;H J?< ?8 68?_D ?A

01/$Q,5/$Do
3//$Q,4/.5/$Do$'1$[VhZh(
35/$Q,4/.5/$Do$'1$[VhZh(

6//$R$<$01/$Q
5//$R$<$3//.35/$Q,4/$Do
6//$R$<$3//.35/$Q,5/$Do

EWRSVUQT5$=XZgd$^cdm^YVWaZ+$eVgi$cx$360///1.360/2/1
DVXQ5$NZ\�c$Za$Y^V\gVbV$YZ$XVWaZVYd+$ZhiV$jc^YVY$ejZYZ$hZg$
deZgVYV$V$01/$Q$.$3//$Q$n$35/$Q-

9?C ;D I?ED ;I$

"%!'!& !'!$#

H6D =E$J;CF)$9;

JH 676 @E

0$Fl

CE9;BE

F6H J#DE

86F)$;D <H ?6C ?;D JE

B.0B .0

86F)$;D <H ?6C ?;D JE

B.0B 0+

86F68?969 $9;$;D <H ?6C ?;D JE$9 ?D$.,13

J? FE$9; $8EC FH ;IEH ?dbegZhdg$MZX^egdXVi^c\

1/x?$,$44x?

96JEI $;B\8 JH?8EI

CED J6@; OZX]d

Kdakd$YZ$VXZgd$#cd$

8EBE H$ M=G$6/24

F;IE

LEBJ6@ ;*<H;8K ;D8 ?6 12/Q,4/.5/DopI

3//$m$5//$m$30/$bb

0-//Fl$<$4/Do
0-/7Fl$<$5/Do

FC$360/,?dbW^

C[ N)$FEJ;D 8?6$

8ED IK CE
71/$R

30$F\-24$F\-

FC$36/4,12/$Q

44/$R

37/$R

36/4///0

48/R$<$4/Do
5/4R$<$5/Do

31/R$<$4/Do
334R$<$5/Do

FC$36/4,?dbW^

36/42//0

3-3$=$<$01/$Q,5/$Do
0-3$=$<$3//$Q,4/.5/$Do

0-1$=$<$35/$Q,4/$Do
0-3$=$<$35/$Q,5/$Do

1/x?$,$44x?

45/$l

?D J;D I?969$6$B .0B.0

?^gXj^id$ZmiZgcd9$EK$13
?^gXj^id$^ciZgcd9$EK$43

28/$R$<$4/$Do
34/$R$<$5/$Do

08-0=$<01/Q.3-2=$<3//$Q
3-2$=$<$35/$Q

0/$=$'O($<$01/$Q
1S2-5='O(<3//.35/Q,4/.5/Do

4-2$=$<$01/$Q
0-5$=$<$3//$Q
0-3$=$<$35/$Q

?D J;D I?969$C[N )

8-7$=

1-6$=

5$=$'O(

?D J;D I?969$9;$

6H H6D GK ;

FEJ;D 8?6

8ED IK CE$B.0B.0

<KI?7B ;

8ED ;N ?_D ?dcZm^�c$V$WdgcVh

FHEJ;88?_D$

?F$?;8$1+$0-4

8;H J?< ?8 68?_D ?A

01/$Q,5/$Do
3//$Q,4/.5/$Do$'1$[VhZh(
35/$Q,4/.5/$Do$'1$[VhZh(

33/$R$<$01/$Q
30/$R$<$3//.35/$Q,4/$Do
33/$R$<$3//.35/$Q,5/$Do

EWRSVUQT5$=XZgd$^cdm^YVWaZ+$eVgi$cx$36/4//1.36/42/1
DVXQ5$NZ\�c$Za$Y^V\gVbV$YZ$XVWaZVYd+$ZhiV$jc^YVY$ejZYZ$hZg$
deZgVYV$V$01/$Q$.$3//$Q$n$35/$Q-

9?C ;D I?ED ;I$

"%!'!& !'!$#

H6D =E$J;CF)$9;

JH 676 @E

CE9;BE

F6H J#DE

86F)$;D <H ?6C ?;D JE

B.0B .0

86F)$;D <H ?6C ?;D JE

B.0B 0+

86F68?969 $9;$;D <H ?6C ?;D JE$9 ?D$.,13

J? FE$9;$8EC FH ;IEH ?dbegZhdg$MZX^egdXVi^c\

96JEI $;B\8 JH?8EI

CED J6@; OZX]d

Kdakd$YZ$VXZgd$#cd$

8EBE H$ M=G$6/24

F;IE

LEBJ6@ ;*<H;8K ;D8 ?6 12/Q,4/.5/DopI

C6J;H ?6B$9;$B6$86@6

31/$m$5//$m$30/$bb

AcigVYV9$10/$m$08/$bb
NVa^YV9$154$m$08/$bb

1-/$=$<$4/$Do
1-1$=$<$5/$Do

C[ N)$FEJ;D 8?6$

8ED IK CE
464$l

[H;6$9;$8EHJ;$"%!'!&#



,+,+

30$F\-

0-4/$Fl

0-11$Fl

0-4/Fl$<$4/Do
0-52Fl$<$5/Do

0-11Fl$<$4/Do
0-21Fl$<$5/Do

A=$/2,0$JEF A=$/2-+$JEF

C6J;H ?6B$9;$B6$86@6

36$F\-

AcigVYV9$10/$m$08/$bb
NVa^YV9$154$m$08/$bb

1/x?$,$44x?

OZX]d

FC$3604,12/$Q

0-18$Fl

?^gXj^id$ZmiZgcd9$EK$13
?^gXj^id$^ciZgcd9$EK$43

7//$R$<$4/$Do
81/$R$<$5/$Do

3-5$=$<$4/$Do
4-0$=$<$5/$Do

28-3=$<01/Q.4-2=$<3//$Q
4-2$=$<$35/$Q

05$=$'O($<$01/$Q
1S2-5='O(<3//.35/Q,4/.5/Do

00-7$=$<$01/$Q
2-4$=$<$3//$Q
2-0$=$<$35/$Q

8-5$=$<$01/$Q,5/$Do
1-8$=$<$3//$Q,4/.5/$Do
1-4$=$<$35/$Q,4/.5/$Do

?D J;D I?969$C[N )

?D J;D I?969$6$B .0B.0

10-1$=

4-5$=

0/$=$'O(

?D J;D I?969$9;$

6H H6D GK ;

FEJ;D 8?6

8ED IK CE$B.0B.0

<KI?7B ;

8ED ;N ?_D ?dcZm^�c$V$WdgcVh

FHEJ;88?_D$

?F$?;8$1+$0-4

8;H J?< ?8 68?_D ?A

01/$Q,5/$Do
3//$Q,4/.5/$Do$'1$[VhZh(
35/$Q,4/.5/$Do$'1$[VhZh(

77/$R$<$01/$Q
77/$R$<$3//.35/$Q,4/$Do
0$Fl$<$3//.35/$Q,5/$Do

EWRSVUQT5$=XZgd$^cdm^YVWaZ+$eVgi$cx$3604//1.36042/1
DVXQ5$NZ\�c$Za$Y^V\gVbV$YZ$XVWaZVYd+$ZhiV$jc^YVY$ejZYZ$hZg$
deZgVYV$V$01/$Q$.$3//$Q$n$35/$Q-

9?C ;D I?ED ;I$

"%!'!& !'!$#

H6D =E$J;CF)$9;

JH 676 @E

CE9;BE

F6H J#DE

86F)$;D <H ?6C ?;D JE

B.0B .0

86F)$;D <H ?6C ?;D JE

B.0B 0+

86F68?969 $9;$;D <H ?6C ?;D JE$9 ?D$.,13

J? FE$9;$8EC FH ;IEH ?dbegZhdg$MZX^egdXVi^c\

96JEI $;B\8 JH?8EI

CED J6@;

Kdakd$YZ$VXZgd$#cd$

8EB EH$ M=G$6/24

F;IE

LEBJ6@ ;*<H;8K ;D8 ?6

[H;6$9;$8EHJ;$"%!'!&#

12/Q,4/.5/DopI

3//$m$5//$m$30/$bb

3604///0

FC$3604,?dbW^

36042//0

C[ N)$FEJ;D 8?6$

8ED IK CE 0-6$Fl

4/$F\- 45$F\-

FC$361/,12/$Q

0-31$Fl

?^gXj^id$ZmiZgcd9$EK$13
?^gXj^id$^ciZgcd9$EK$43

0-2$Fl$<$4/$Do
0-5$Fl$<$5/$Do

3-0$=$<$4/$Do
4-4$=$<$5/$Do

28-3=$<01/Q.4-2=$<3//$Q
4-2$=$<$35/$Q

05$=$'O($<$01/$Q
1S5='O(<3//.35/Q,4/.5/Do

3/-0$=$<$01/$Q
4-6$=$<$3//$Q
5-3$=$<$35/$Q

8-0$=$<$01/$Q,5/$Do
2-0$=$<$3//$Q,4/.5/$Do
1-6$=$<$35/$Q,4/.5/$Do

?D J;D I?969$C[N )

?D J;D I?969$6$B .0B.0

5-3$=

11-2$=

0/$=$'O(

?D J;D I?969$9;$

6H H6D GK ;

FEJ;D 8?6

8ED IK CE$B.0B.0

<KI?7B ;

8ED ;N ?_D ?dcZm^�c$V$WdgcVh

FHEJ;8 8?_D$

?F$?;8$1+$0-4

8;H J?< ?8 68?_D ?A

01/$Q,5/$Do
3//$Q,4/.5/$Do$'1$[VhZh(
35/$Q,4/.5/$Do$'1$[VhZh(

0-17$Fl$<$01/$Q
0-15Fl$<3//.35/$Q,4/$Do
0-24Fl$<3//.35/$Q,5/$Do

EWRSVUQT5$=XZgd$^cdm^YVWaZ+$eVgi$cx$361///1.361/2/1
DVXQ5$NZ\�c$Za$Y^V\gVbV$YZ$XVWaZVYd+$ZhiV$jc^YVY$ejZYZ$hZg$
deZgVYV$V$01/$Q$.$3//$Q$n$35/$Q-

9?C ;D I?ED ;I$

"%!'!& !'!$#

H6D =E$J;CF)$9;

JH 676 @E

CE9;BE

F6H J#DE

86F)$;D <H ?6C ?;D JE

B.0B .0

86F)$;D <H ?6C ?;D JE

B.0B 0+

86F68?969 $9;$;D <H ?6C ?;D JE$9 ?D$.,13

J? FE$9; $8EC FH ;IEH ?dbegZhdg$MZX^egdXVi^c\

1/x?$,$44x?

96JEI $;B \8 JH?8EI

CED J6@; OZX]d

Kdakd$YZ$VXZgd$#cd$

8EBE H$

[H;6$9;$8EHJ;$"%!'!&#$

M=G$6/24

F;IE

LEBJ6@ ;*<H;8K ;D8 ?6 12/Q,4/.5/DopI

C6J;H ?6B$9;$B6$86@6

31/$m$5//$m$30/$bb

26/$m$44/$bb-

361////0

1$Fl$<$4/$Do
1$Fl$<$5/$Do

0-52$Fl$<$4/$Do
0-60$Fl$<$5/$Do

FC$361/,?dbW^

361/2//0

C[ N)$FEJ;D 8?6$

8ED IK CE
0-5$Fl$<$4/$Do
0-8$Fl$<$5/$Do
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70$F\-64$F\-

3//$Q,4/.5/$Do$2p

1-8$=$<$3//$Q,4/$Do
1-6$=$<$35/$Q,5/$Do

12/Q,4/.5/DopI

7-8$=$<$4/$Do
0/-1$=$<$5/$Do
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?^gXj^id$YZ$V^gZ$ZmiZg^dg9$1//$b2.]
?^gXj^id$YZ$V^gZ$VgbVg^d9$014$b2.]C[N )$<B K@E$9;$6 ?H ;

?D J;D I?969$9;$

6H H6D GK ;

C[ N)$FEJ;D 8?6$

8ED IK CE

2-1$= 6-3$=



,0,0

A=$/-14 A=$/-2+

05/$R$<$5/$Do

FC$3158,12/$Q

45/$R 44/$R

364$R$<$5/$Do

?^gXj^id$ZmiZgcd9$EK$13
?^gXj^id$^ciZgcd9$EK$43

1-3$=$<$4/$Do
1-5$=$<$5/$Do

?D J;DI?969$6$B.0B.0 3-3$=$<$5/$Do

8ED ;N ?_D ?dcZm^�c$V$WdgcVh

FHEJ;88?_D$

?F$?;8$1+$0-4

8;HJ?< ?868?_D ?A.XPMjh

EWRSVUQT5$=XZgd$^cdm^YVWaZ+$eVgi$cx$3158//1.31580/1
DVXQ5$@^hedc^W^a^YVY$YZ$aV$XV_V$IAH=$3m-

9?C ;D I?ED ;I$

"%!'!& !'!$#

H6D =E$J;C F)$9;

JH 676 @E

CE9;BE

F6H J#DE

86F)$;D <H ?6C ?;D JE

B.0B .0

86F)$;D <H ?6C ?;D JE

B.0B 0+

86F68?96 9$9;$;D <H ?6C ?;D JE$9?D$.,13

J? FE$9;$8EC FH ;IEH ?dbegZhdg$MdiVgn$e^hidc

1/x?$,$4/x?

96JEI $;B\8JH?8EI

CED J6@ ; EciZgcd.AmiZgcd

Kdakd$YZ$VXZgd$#cd$

8EBE H$

[H;6$9;$8EHJ;$"%!'!&#$

M=G$6/24

F;IE

?D J;D I?969$C[N )

<KI?7B ;

LEBJ6@ ;*<H;8K ;D8 ?6

C6J;H ?6B$9;$B6$86@6

5//$m$21/$m$00/$bb

04+7$F\-

1-7$=

5$=$'O(

4-0$=

12/$Q,4/.5/$DopI 01/$Q,$5/$DopI

470$m$2/0$bb-

3158///0

4//$R$<$4/$Do
41/$R$<$5/$Do

05/$R$<$4/$Do
07/$R$<$5/$Do

FC$3158,01/$Q

31580//0

FEJ;D 8?6

8ED IK CE$B.0B.0

37/$R$<$4/$Do
38/$R$<$5/$Do

4//$R$<$5/$Do

?^gXj^id$YZ$V^gZ$ZmiZg^dg9$14/$b2.]
?^gXj^id$YZ$V^gZ$VgbVg^d9$014$b2.]C[N )$<B K@E$9;$6 ?H ;

?D J;D I?969$9;$

6H H6D GK ;

C[ N)$FEJ;D 8?6$

8ED IK CE

4-7$= 03-5$=

5//R$<$5/Do
5//R$<$4/Do
5//R$<$5/Do

EciZgcd.AmiZgcd

2//R$<$5/Do

FC$316/,12/Q

464$R 6//$R

46/R$<$5/Do

?^gXj^id$ZmiZgcd9$EK$13
?^gXj^id$̂ ciZgcd9$EK$43

1-2$=$<$4/$Do
1-4$=$<$5/$Do

0-4$=$<$4/$Do
0-4$=$<$5/$Do

3//Q,4/.5/Dop1
35/Q,4/.5/Dop1

?DJ;DI?969 $6$B.0B .0

LEBJ6 @; *<H ;8 K;D 8?6

4-1$=$<$5/$Do

12/Q,4/.5/DopI 01/$Q$<$5/$Do

8ED ;N?_D ?dcZm^�c$V$WdgcVh

FH EJ;88 ?_D$

?F$?;8 $1+ $0-4

8;HJ?<?868 ?_D ?A.XPMjh

EWRSVUQT5$=XZgd$^cdm^YVWaZ+$eVgi$cx$316///1.316/0/1.316/1/1
DVXQ5$@^hedc^W^a^YVY$YZ$aV$XV_V$IAH=$3m-

9 ?C ;DI?ED ;I$

"%!' !&!' !$#

H6D = E$J;C F)$9;

JH 67 6@E

CE9;BE

F6HJ# DE

86F)$;D <H ?6 C?;DJE

B.0B.0

86F)$;D <H ?6 C?;DJE

B.0B0+

8 6F68 ?969$9;$;D <H ?6C?;DJE$9 ?D$.,13

J ?FE$9;$8ECF H;IEH ?dbegZhdg$MdiVgn$e^hidc

1/x?$,$4/x?

96JEI$;B\8JH ?8 EI

CED J6 @;

Kdakd$YZ$VXZgd$#cd$

8EBEH$

[H;6$9;$8EHJ;$"%!'!&# $

M=G$6/24

F;IE

?D J;DI?969$C[N )

<K I?7 B;

C6J;H?6B$9;$B 6$86 @6

70/$m$284$m$034$bb

2/$F\- 22$F\-

2$=

5$=$'O( 05$=$'O( 1$m$2$=$'O(

6$= 1-0$=

680$m$265$bb-

316////0

5//R$<$4/Do
5//R$<$5/Do

2//R$<$4/Do
2//R$<$5/Do

2//R$<$4/Do
2//R$<$5/Do

FC$316/,01/Q FC$316/,3//Q

316/0//0 316/1//0

FEJ;D 8?6

8ED IKC E$B .0B.0

33/R$<$4/Do
37/R$<$5/Do

44/R$<$4/Do
46/R$<$5/Do

?^gXj^id$YZ$V^gZ$ZmiZg^dg9$23/$b2.]
?^gXj^id$YZ$V^gZ$VgbVg^d9$06/$b2.]C[ N)$<BK@E$9;$6 ?H;

?DJ;DI?969 $9;$

6H H 6DGK ;

C[N )$FEJ;D8 ?6$

8ED IKC E

4-7$= 04-1$= 3$=



,1,1

A=$/-2, A=$/-2-

23$F\-

71/R$<$5/Do
71/R$<$4/Do
774R$<$5/Do

EciZgcd.AmiZgcd

37/R$<$5/Do

FC$3160,12/Q

74/$R 8/4$R 73/$R

644R$<$5/Do

?^gXj^id$ZmiZgcd9$EK$13
?^gXj^id$̂ ciZgcd9$EK$43

2-2$=$<$4/$Do
2-6$=$<$5/$Do

0-3$=$<$4/$Do
0-3$=$<$5/$Do

27/,304$Q,4/Do
3//,35/$Q,5/Do

?DJ;DI?969 $6$B.0B .0

LEBJ6 @; *<H ;8 K;D 8?6

6-1$=$<$5/$Do

12/Q,4/.5/DopI 01/$Q$<$5/$Do

8ED ;N?_D ?dcZm^�c$V$WdgcVh

FH EJ;88 ?_D$

?F$?;8 $1+ $0-4

8;HJ?<?868 ?_D ?A.XPMjh

EWRSVUQT5$=XZgd$^cdm^YVWaZ+$eVgi$cx$3160//1.31600/1.31601/1
DVXQ5$3//$Q.2p$cd$cZXZh^iV$HK$VY^X^dcVa-
@^hedc^W^a^YVY$YZ$aV$XV_V$IAH=$3m-

9 ?C ;DI?ED ;I$

"%!' !&!' !$#

H6D = E$J;C F)$9;

JH 67 6@E

CE9;BE

F6HJ# DE

86F)$;D <H ?6 C?;DJE

B.0B.0

86F)$;D <H ?6 C?;DJE

B.0B0+

8 6F68 ?969$9;$;D <H ?6 C?;DJE$9 ?D$.,13

J ?FE$9;$8ECF H;IEH ?dbegZhdg$MdiVgn$e^hidc

1/x?$,$44x?

96JEI$;B\8JH ?8 EI

CED J6 @;

Kdakd$YZ$VXZgd$#cd$

8EBEH$

[H;6$9;$8EHJ;$"%!'!&# $

M=G$6/24

F;IE

?D J;DI?969$C[ N)

<K I?7 B;

C6J;H?6B$9;$B 6$86 @6

87/$m$284$m$034$bb

22$F\- 27$F\-

3-2$=

0/$=$'O( 05$=$'O( 2$m$5$=$'O(

7-6$= 1-8$=

850$m$265$bb-

3160///0

71/R$<$4/Do
774R$<$5/Do

37/R$<$4/Do
42/R$<$5/Do

37/R$<$4/Do
42/R$<$5/Do

FC$3160,01/Q FC$3160,3//Q

31600//0 31601//0

FEJ;D 8?6

8ED IKC E$B .0B.0

55/R$<$4/Do
65/R$<$5/Do

?^gXj^id$YZ$V^gZ$ZmiZg^dg9$21/$b2.]
?^gXj^id$YZ$V^gZ$VgbVg^d9$18/$b2.]C[ N)$<BK@E$9;$6 ?H;

?DJ;DI?969 $9;$

6H H 6DGK ;

C[N )$FEJ;D8 ?6$

8ED IKC E

04-4$= 26$= 7-1$=

55/R$<$4/Do
65/R$<$5/Do

0-0Fl$<$5/Do
0-0Fl$<$4/Do
0-0Fl$<$5/Do

EciZgcd.AmiZgcd

60/R$<$5/Do

FC$3161,12/Q

0-01$Fl 0-2$Fl 0-/2$Fl

864R$<$5/Do

?^gXj^id$ZmiZgcd9$EK$13
?^gXj^id$̂ ciZgcd9$EK$43

2-4$=$<$4/$Do
3-0$=$<$5/$Do

0-5$=$<$4/$Do
0-4$=$<$5/$Do

27/,304Q,4/Dop2
3//,35/Q,5/Dop2

?DJ;DI?969 $6$B.0B .0

LE BJ6 @; *<H ;8 K;D 8?6

7-6$=$<$5/$Do

12/Q,4/.5/DopI 01/$Q$<$5/$Do

8ED ;N?_D ?dcZm^�c$V$WdgcVh

FHEJ;88?_D$

?F$?;8 $1+ $0-4

8;HJ?<?868 ?_D ?A.XPMjh

EWRSVUQT5$=XZgd$^cdm^YVWaZ+$eVgi$cx$3161//1.31610/1.31611/1
DVXQ5$3//$Q.2p$cd$cZXZh^iV$HK$VY^X^dcVa-
@^hedc^W^a^YVY$YZ$aV$XV_V$IAH=$3m-

9 ?C ;DI?ED ;I$

"%!' !&!' !$#

H6D = E$J;C F)$9;

JH 67 6@E

CE9;BE

F6HJ# DE

86F)$;D <H ?6 C?;DJE

B .0B.0

86F)$;D <H ?6 C?;DJE

B.0B0+

8 6F68 ?969$9;$;D <H ?6C?;DJE$9 ?D$.,13

J? FE$9;$8ECF H;IEH ?dbegZhdg$MdiVgn$e^hidc

1/x?$,$44x?

96JEI$;B\8JH ?8 EI

CED J6 @;

Kdakd$YZ$VXZgd$#cd$

8EBEH$

[H;6$9;$8EHJ;$"%!'!&# $

M=G$6/24

F;IE

?D J;DI?969$C[N )

<K I?7 B;

C6J;H?6B$9;$B 6$86 @6

014/$m$284$m$034$bb

33$F\- 34$F\-

4-1$=

0/$=$'O( 05$=$'O( 2$m$5$=$'O(

00-5$= 2-1$=

0120$m$265$bb-

3161///0

0-0Fl$<$4/Do
0-0Fl$<$5/Do

60/R$<$4/Do
60/R$<$5/Do

60/R$<$4/Do
60/R$<$5/Do

FC$3161,01/Q FC$3161,3//Q

31610//0 31611//0

FEJ;D 8?6

8ED IKC E$B .0B.0

65/R$<$4/Do
77/R$<$5/Do

62/R$<$4/Do
75/R$<$5/Do

?^gXj^id$YZ$V^gZ$ZmiZg^dg9$32/$b2.]
?^gXj^id$YZ$V^gZ$VgbVg^d9$1//$b2.]C[ N)$<BK@E$9;$6 ?H;

?DJ;DI?969 $9;$

6H H 6DGK ;

C[N )$FEJ;D8 ?6$

8ED IKC E

04-4$= 26$= 7-1$=



,2,2

A=$/-2/ A=$//3-$JEF

?D J;DI?969$C[ N) 2-1$=

0-3Fl$<$5/Do
0-4Fl$<$4/Do
0-4Fl$<$5/Do

EciZgcd.AmiZgcd

84/R$<$5/Do

FC$3163,12/Q

0-6$Fl 0-27$Fl 0-42$Fl

0-1Fl$<$5/Do

?^gXj^id$ZmiZgcd9$EK$13
?^gXj^id$̂ ciZgcd9$EK$43

3-4$=$<$4/$Do
4-7$=$<$5/$Do

0-7$=$<$4/$Do
1-/$=$<$5/$Do

27/,304Q,4/Dop2
3//,35/Q,5/Dop2

?DJ;DI?969 $6$B.0B .0

LEBJ6 @; *<H ;8 K;D 8?6

00$=$<$5/$Do

12/Q,4/.5/DopI 01/$Q$<$5/$Do

8ED ;N?_D ?dcZm^�c$V$WdgcVh

FH EJ;88 ?_D$

?F$?;8 $1+ $0-4

8;HJ?<?868 ?_D ?A.XPMjh

EWRSVUQT5$=XZgd$^cdm^YVWaZ+$eVgi$cx$3163//1.31630/1.31631/1
DVXQ5$3//$Q.2p$cd$cZXZh^iV$HK$VY^X^dcVa-
@^hedc^W^a^YVY$YZ$aV$XV_V$IAH=$3m-

9 ?C ;DI?ED ;I$

"%!' !&!' !$#

H6D = E$J;C F)$9;

JH 67 6@E

CE9;BE

F6HJ# DE

86F)$;D <H ?6 C?;DJE

B.0B.0

86F)$;D <H ?6 C?;DJE

B.0B0+

8 6F68 ?969$9;$;D <H ?6C?;DJE$9 ?D$.,13

J ?FE$9;$8ECF H;IEH ?dbegZhdg$MdiVgn$e^hidc

1/x?$,$44x?

96JEI$;B\8JH ?8 EI

CED J6 @;

Kdakd$YZ$VXZgd$#cd$

8EBEH$

[H;6$9;$8EHJ;$"%!'!&# $

M=G$6/24

F;IE

<K I?7 B;

C6J;H?6B$9;$B 6$86 @6

044/$m$284$m$034$bb

4/$F\- 44$F\-

7-0$=

0/$=$'O( 05$=$'O( 2$m$5$=$'O(

01$=

0420$m$265$bb-

3163///0

0-4Fl$<$4/Do
0-4Fl$<$5/Do

0-1Fl$<$4/Do
0-1Fl$<$5/Do

0-1Fl$<$4/Do
0-1Fl$<$5/Do

FC$3163,01/Q FC$3163,3//Q

31630//0 31631//0

FEJ;D 8?6

8ED IKC E$B .0B.0

0-/2Fl$<$4/Do
0-11Fl$<$5/Do

824R$<$4/Do
0-04Fl$<$5/Do

?^gXj^id$YZ$V^gZ$ZmiZg^dg9$32/$b2.]
?^gXj^id$YZ$V^gZ$VgbVg^d9$1//$b2.]C[ N)$<BK@E$9;$6 ?H;

?DJ;DI?969 $9;$

6H H 6DGK ;

C[N )$FEJ;D8 ?6$

8ED IKC E

11$= 26$= 02$=

17/$R$<$5/$Do17/$R$<$4/$Do

FC$3371,12/$Q

47/$R 48/$R

37/$R$<$5/$Do

?^gXj^id$ZmiZgcd9$EK$13
?^gXj^id$^ciZgcd9$EK$43

1-0$=$<$4/$Do
1-1$=$<$5/$Do

?D J;D I?969$6$B.0B.0 3-1$=$<$5/$Do

8ED ;N ?_D ?dcZm^�c$V$WdgcVh

FHEJ;8 8?_D$

?F$?;8$1+$0-4

8;H J?< ?8 68?_D ?A.XPMjh

EWRSVUQT5$=XZgd$^cdm^YVWaZ+$eVgi$cx$3371//1.33710/1

9?C ;D I?ED ;I$

"%!'!& !'!$#

H6D =E$J;CF)$9;

JH 676 @E

CE9;BE

F6H J#DE

86F)$;D <H ?6C ?;D JE

B.0B .0

86F)$;D <H ?6C ?;D JE

B.0B 0+

86F68?96 9$9;$;D <H ?6C ?;D JE$9?D$.,13

J? FE$9; $8EC FH ;IEH ?dbegZhdg$MdiVgn$e^hidc

1/x?$,$4/x?

96JEI $;B \8 JH?8EI

CED J6@; OZX]d

Kdakd$YZ$VXZgd$#cd$

8EBE H$

[H;6$9;$8EHJ;$"%!'!&#$

M=G$6/24

F;IE

?D J;D I?969$C[N )

<KI?7B ;

LEBJ6@ ;*<H;8K ;D8 ?6

C6J;H ?6B$9;$B6$86@6

12/$m$32/$m$22/$bb

12$F\-

1-7$=

5$=$'O(

4-1$=

12/$Q,4/.5/$Do 01/$Q,$5/$Do

013/$m$33/$bb-

3371///0

34/$R$<$4/$Do
35/$R$<$5/$Do

FC$3371,01/$Q

3371//0

FEJ;D 8?6

8ED IK CE$B.0B.0

354$R$<$4/$Do
374$R$<$5/$Do

34/$R$<$5/$Do

C[N )$<B K@E$9;$6 ?H ;

?D J;D I?969$9;$

6H H6D GK ;

C[ N)$FEJ;D 8?6$

8ED IK CE

5-7$= 06$=

?-$V^gZ$Zmi-900/$b2.]
?-$V^gZ$Vg-914/$b2.]

?-$V^gZ$Zmi-903/$b2.]
?-$V^gZ$Vg-914/$b2.]



,3,3

A=$/000$JEF A=$/0.0$,4&&

0-0Fl$<$5/Do
0-0/Fl$<$4/Do
0-04Fl$<$5/Do

OZX]d

6//R$<$5/Do

FC$3444,12/Q

0-/8$Fl

7//R$<$5/Do

?^gXj^id$ZmiZgcd9$EK$13
?^gXj^id$̂ ciZgcd9$EK$43

3-/$=$<$4/$Do
3-3$=$<$5/$Do

1-2$=$<$4/$Do
1-4$=$<$5/$Do

?DJ;DI?969 $6$B.0B .0 7$=$<$5/$Do

8ED ;N?_D ?dcZm^�c$V$WdgcVh

FH EJ;88 ?_D$

?F$?;8 $1+ $0-4

8;HJ?<?868 ?_D ?A.XPMjh

EWRSVUQT5$=XZgd$^cdm^YVWaZ+$eVgi$cx$3444//1.34440/1.34441/1

9 ?C ;DI?ED ;I$

"%!' !&!' !$#

H6D = E$J;C F)$9;

JH 67 6@E

CE9;BE

F6HJ#DE

86F)$;D <H ?6 C?;DJE

B.0B.0

86F)$;D <H ?6 C?;DJE

B.0B0+

8 6F68 ?969$9;$;D <H ?6C?;DJE$9 ?D$.,13

J ?FE$9;$8ECF H;IEH ?dbegZhdg$MdiVgn$e^hidc

1/x?$,$44x?

96JEI$;B\8JH ?8 EI

CED J6 @;

Kdakd$YZ$VXZgd$#cd$

8EBEH$

[H;6$9;$8EHJ;$"%!'!&# $

M=G$6/24

F;IE

LEBJ6 @; *<H ;8 K;D 8?6

?D J;DI?969$C[ N)

<K I?7 B;

C6J;H?6B$9;$B 6$86 @6

3//$m$5//$m$3//$bb

44$F\-

12/Q,4/.5/Do 01/$Q$<$5/$Do 3//,35/Q,4/.5/Do

3-7$=

0/$=$'O( 05$=$'O( 2$m$5$=$'O(

8-5$= 1-7$=

0/7$m$42/$bb-$'m$1(

3444///0

0-0/Fl$<$4/Do
0-04Fl$<$5/Do

6//R$<$4/Do
64/R$<$5/Do

6//R$<$4/Do
64/R$<$5/Do

FC$3444,01/Q FC$3444,3//Q

34440//0 34441//0

FEJ;D 8?6

8ED IKC E$B .0B.0

7//R$<$4/Do
8//R$<$5/Do

7//R$<$4/Do
8//R$<$5/Do

?^gXj^id$YZ$V^gZ$ZmiZg^dg9$25/$b2.]
?^gXj^id$YZ$V^gZ$VgbVg^d9$61/$b2.]C[ N)$<BK@E$9;$6 ?H;

?DJ;DI?969 $9;$

6H H 6DGK ;

C[N )$FEJ;D8 ?6$

8ED IKC E

04$= 26$= 7-1$=

CED J6@ ;

C[N )$<B K@E$9;$6 ?H ;

FC$3424,12/$Q

2-/$R$<$4/$Do
2-1$R$<$5/$Do

?D J;D I?969$6$B.0B.0

8ED ;N ?_D

FHEJ;8 8?_D$

?F$?;8$1+$0-4

8;H J?< ?8 68?_D

9?C ;D I?ED ;I$

"%!'!& !'!$#

H6D =E$J;C F)$9;

JH 676 @E

CE9;BE

F6H J#DE

86F)$;D <H ?6C ?;D JE

B.0B .0

86F)$;D <H ?6C ?;D JE

B.0B 0+

J? FE$9;$8EC FH ;IEH

8EB EH$

F;IE

?D J;D I?969$C[N )

<KI?7B ;

LEBJ6@ ;*<H;8K ;D8 ?6

C6J;H ?6B$9;$B6$86@6

12/$Q,4/.5/$Do$2p

3424///

8//$R$<$4/$Do
84/$R$<$5/$Do

6//$R$<$4/$Do
64/$R$<$5/$Do

FEJ;D 8?6

8ED IK CE$B.0B.0

6//$R$<$4/$Do
64/$R$<$5/$Do

?D J;D I?969$9;$
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9;$B6$?D9KIJH?6

>VccZg$d[gZXZ$aV$a^cZV$YZ$hZchdgZh$b{h$XdbeaZiV$Z$^ciZ\gVYV$YZ$aV$^cYjhig^V+$hdajX^dcZh$eVgV$k^h^�c+$gZYZh$

^cVa{bWg^XVh+$egdYjXidh$YZ$hZ\jg^YVY$n$ajXZh$^cY^XVYdgVh-$

OZXcdad\}Vh$ >VccZg$ bVgXV$ aV$ bVcZgV$ b{h$ Z"X^ZciZ$ YZ$ ]VXZg$ ^cheZXX^dcZh+$ ZchVbWaZ$ VjidbVi^oVYd$ n$

deZgVX^dcZh$i^ed$ed`Z,nd`Z-$

I;DIEH;I

<iMNZ!RW\NZWJLRXWJU

$, OdYdh$ adh$ h^hiZbVh$ YZ$ YZiZXX^�c$ [didZa|Xig^XV$ n$ deX^dcZh$YZ$ XVgXVhVh$ jc^kZghVaZh$eVgV$ XVh^$ XjVafj^Zg$

Vea^XVX^�c-

$, NZchdgZh$jaigVh�c^Xdh$YZ$Vaid$gZcY^b^Zcid$Xdc$gZhdajX^dcZh$YZ$0$bb-

$, NZchdgZh$YZ$Y^hiVcX^V$aVhZg$'$bZY^X^�c$YZ$i^Zbed$YZ$kjZad($n$hZchdgZh$YZ$ajo$eVgV$bZY^X^dcZh$egZX^hVh-

$, NZchdgZh$a{hZg+$YZ$[^WgV$�ei^XV$n$hZchdgZh$ZheZX^VaZh-

4)(!5_YNZ\b!]W!1VYURORLJMXZ!

MN!6RKZJ!fY\RLJ!MN!@Ug[\RLX

$, HdciV_Z$aVYd$V$aVYd$n$XVWaZVYd$h^bea^[ ^XVYd-

$, Q^hjVa^oVX^�c$Y^\^iVa$YZ$[jZgoV$YZ$hZ~Va$n$ZhiVYd$

YZ$[jcX^dcVb^Zcid-

$, >didcZh$ejahVYdgZh$eVgV$[{X^a$egd\gVbVX^�c-

3JKUN[!MN!ORKZJ!jY\RLJ!MN!YUg[\RLX

$, AXdc�b^Xd$n$[{X^a$YZ$XdgiVg$V$bZY^YV$YjgVciZ$aV$

^chiVaVX^�c-

$, NZ$ejZYZc$eaZ\Vg$eVgV$jcV$XdadXVX^�c$egZX^hV-

$, Ahi^adh$^cY^k^YjVaZh$d$W^[jgXVYdh$eVgV$YZiZXX^�c$

Zc$WVggV$d$Y^gZXiV-$

CNW[XZ!MN!BJW]ZJ!"[UX\#!C<=

NW!=N\JU$LXW!4R[\JWLRJ!6RSJ

$, JX]d$VcX]dh$YZ$gVcjgVh+$YZhYZ$0/$V$11/$bb-

$, ?jZged$YZ$bZiVa$hZaaVYd;$XaVh^#XVYd$EK56$'IAH=$5(

$, ?jZged$e^ciVYd$YZ$VbVg^aad$d$c^fjZaVYd-

G?B<4%251=e!AC+(

CNW[XZN[!MN!3JVYX!1S][\JKUN

$, OZXcdad\}V$ VkVcoVYV$ Zc$ hjegZh^�c$ YZ$ [dcYd$ n$

[gZciZ-

$, Kjcidh$YZ$V_jhiZ$Xdc[^\jgVWaZh+$YZ$4/$V$5//$bb-

$, ?VgXVhV$ bZY^VcV$ Zc$ {c\jad$ gZXid$ Xdc$ aZciZ$

gdhXVYV$YZ$2/$bb$d$bdciV_Z$aViZgVa-

G?B<4%251=eAC)0!

CNW[XZN[

$, ?VgXVhV$jc^kZghVa$Xdc$ aZciZ$gdhXVYV$YZ$07bb$d$

bdciV_Z$Va$aVYd-

$, @^hedc^WaZ$Zc$idYdh$adh$h^hiZbVh$YZ$YZiZXX^�c$n$

YZ$gVc\d$]VhiV$1/$b-

$, ?VgXVhV$gdWjhiV$n$hZaaVYV+$X^gXj^idh$egdiZ\^Ydh-

G?B<4%251=e!AC)0

CNW[XZN[!MN!3JVYX!1S][\JKUN

$, ?VgXVhV$XdbeVXiV$Xdc$bdciV_Zh$aViZgVaZh-

$, OZXcdad\}V$ VkVcoVYV$ Zc$ hjegZh^�c$ YZ$ [dcYd$ n$

[gZciZ-

$, Kjcidh$YZ$V_jhiZ$Xdc[^\jgVWaZh+$YZ$1/$V$2//$bb-

$, GA@$gd_d$k^h^WaZ$d$]Vo$YZ$YZiZXX^�c$a{hZg-

CNW[XZ!BX[LJMX!

=)*!MN!)*!VV!

$, HdYZadh$ Zc$ WVggZgV+$ gZigdgZ[aZXi^kdh+$ Y^gZXid$

dW_Zid$n$YZ$XVbed$[^_d-

$, DVo$ YZ$ YZiZXX^�c$ gd_d$ k^h^WaZ$ eVgV$ jcV$ [{X^a$

Va^cZVX^�c-

$, ?aVh^[ ^XVX^�c$EK56$eVgV$VbW^ZciZh$V\gZh^kdh-$



.3

L?I?_D$9;$C[GK?D6I

CXU]LRXWN[!MN!^R[RjW!MN!JU\X!ZNWMRVRNW\X!`!^JUXZ

$, BjcX^�c$XdbeaZiV+$egdYjXidh$YZ$k^h^�c$^cYjhig^VaZh$Xdc$hd[ilVgZ$[{X^a$YZ$jhVg$n$jc$_jZ\d$XdbeaZid$YZ$

]ZggVb^ZciVh$YZ$^cheZXX^�c-

$, NZchdgZh$YZ$^bV\Zc$YZ$eVciVaaV$i{Xi^a;$cd$hZ$gZfj^ZgZ$jcV$K?$eVgV$Xdc[^\jgVg+$bdc^idgZVg$d$gZVa^oVg$
XVbW^dh-$
$, GZXidgZh$0$@$n$1$@$eVgV$aZZg$n$XaVh^[^XVg$X�Y^\dh$YZ$WVggVh$Zhi{cYVg$YZ$aV$^cYjhig^V-
$, PcV$hZaZXX^�c$XdbeaZiV$YZ$aZciZh$Z$^ajb^cVX^�c$eVgV$h^hiZbVh$YZ$k^h^�c-

I;=KH?969$F6H6$C[GK?D6I

5U![R[\NVJ!MN![NP]ZRMJM!Vg[!J^JWaJMX!MN!UJ!RWM][\ZRJ

$, >VggZgVh$YZ$ajo$YZ$hZ\jg^YVY$n$ZhXVcZgh$a{hZg-

$, N^hiZbVh$YZ$hZ\jg^YVY$YZ$B^WgV$�ei^XV-

$, H�Yjadh$n$XdcigdaVYdgZh$YZ$hZ\jg^YVY-

$, @^hedh^i^kdh$YZ$eVgVYV$YZ$ZbZg\ZcX^V-

$, EciZggjeidgZh$YZ$ZcXaVkVb^Zcid$YZ$hZ\jg^YVY-

$, ?dcigdaZh$W^bVcjVaZh$Zg\dc�b^Xdh$n$WVggVh$YZ$[jcX^dcVb^Zcid-

2JZZJ!MN!6]WLRXWJVRNW\X!

4E?%D?E38!eLXW!CD2!

@]U[JMXZN[!1]\X!FNZRORLJMX[

$, ?dckZc^ZciZ$ bZY^d$ YZ$ egdiZXX^�c$ Va$ ZhiVg$

^ciZgXdcZXiVYd$ Xdc$ b�Yjadh$ YZ$ Xdcigda$

W^bVcjVaZh-

$, @^hZ~d$Zg\dc�b^Xd$fjZ$ gZYjXZ$Za$ Zhig|h$Zc$ aVh$

bVcdh+$bj~ZXVh$n$WgVodh$-

$, @dh$ejahVYdgZh$NO>$Xdc$gZYjcYVcX^V$WVhVYV$Zc$

b^XgdXdcigdaVYdgZh-

5I%C3B55>e<@$!UJ!3XZ\RWJ!MN!<]a!

MN!CNP]ZRMJM!MN!2JSX!@NZORU!

$, JeX^dcZh$ YZ$ XVgXVhVh$ XdbeVXiVh$ n$ gZ[dgoVYVh+$

YZ$bdciV_Z$[ aZm^WaZ$eVgV$jcV$XdadXVX^�c$egZX^hV$

h^c$odcVh$bjZgiVh-

$, MZhdajX^dcZh$YZ$03$V$14$bb;${gZVh$YZ[^c^YVh$YZ$

16/$V$070/$bb-

$, O^Zbedh$ YZ$ gZhejZhiV$ Xdc$ jcV$ kZadX^YVY$ YZ$ 7$

b^a^hZ\jcYdh$Xdc$gVc\dh$YZ$YZiZXX^�c$YZ$]VhiV$

6$b-

$, JeX^dcZh$ YZ$ XVhXVYV$ eVgV$ jcV$ ^chiVaVX^�c$

Xdc$ WjZcV$ gZaVX^�c$ XdhiZ,WZcZ[^X^d$ YZ$ kVg^Vh$

WVggZgVh$YZ$ajo-

9W\NZZ]Y\XZN[!

5[\RUX!2R[JPZJ!C9%87.+$

$, =aXVcXZ$YZ$bdk^b^Zcid$XdbeaZid$YZ$16/x-

$, HdYZadh$Zc$a}cZV$n$Zc${c\jad$gZXid-

$, =XZgd$^cdm^YVWaZ$gZh^hiZciZ$V$aV$Xdggdh^�c-

$, NdedgiZ$adXVa$Vm^Va$n$gVY^Va$YZ$01//$I-

3XW\ZXUJMXZ!MN!

CNP]ZRMJM!C3**%+

$, 11$iZgb^cVaZh$YZ$ZcigVYV$fjZ$ejZYZc$XdcigdaVg$

VbWVh$ hVa^YVh$ YZ$ ZhiVYd$ h�a^Yd$ KIK$ d$ YZ$

XdciVXid-

$, ?VYV$ZcigVYV$ejZYZ$hZg$Xdc[^\jgVYV$Xdbd$hZ~Va$

YZ$Xdcigda$d$YZ$hZ\jg^YVY$YZ$?ViZ\dg}V$1+$2+$d$3$

hZ\�c$ENJ$02738,0-

$, 2$eVgZh$YZ$hVa^YVh$YZ$ZhiVYd$h�a^Yd$n$0/$ hVa^YVh$

Xdc[^\jgVWaZh$YZ$ZhiVYd$Vjm^a^Vg-

$, B{X^a$ Xdc[^\jgVX^�c$ Xdc$ k^hdg$ [gdciVa$ G?@$

^cXdgedgVYd$d$^ciZg[Vo$YZ$K?-

$, HdYZadh$eVgV$XdcZm^�c$Y^gZXiV$V$Ai]ZgcZi.EKOH$n$

gZYZh$^cYjhig^VaZh$HdYWjh.O?K-



.4

CNW[XZ!MN!FR[RjW!

CNUUJMX!%#&#$"#e@,

$, ?aVh^[ ^XVYd$EK57$eVgV$hdedgiVg$edakd+$]jbZYVY$n$

aVkVYd$V$egZh^�c-

$, ?jZged$XdbeVXid$n$YjgVWaZ$eVgV$idaZgVg$X]dfjZh$

n$k^WgVX^dcZh-

$, ?dc_jcid$ XdbeaZid$ YZ$ ]ZggVb^ZciVh$ YZ$

jW^XVX^�c+$^cheZXX^�c+$Vc{a^h^h$n$\ZdbZig}V-

$, ?dcigdaZh$=Xi^kZS$n$ hVa^YVh$YZ$k^YZd$Zc$i^Zbed$

gZVa+$Zi]ZgcZi+$hZg^VaZh$Z$E.J$Y^hXgZiVh$[aZm^WaZh$-

RF]!CNZRN!

CNW[XZ!MN!9VJPNW$

$, Id$hZ$gZfj^ZgZ$K?-

$, B{X^a$ Xdc#\jgVX^�c9$ ^chiVaZ.XdcZXiZ$ Za$ ^Qj$

hZaZXX^dcZ$Za$ i^ed$YZ$hZchdg+$ VYfj^ZgV$ aV$ ^bV\Zc+$

ZhiVWaZoXV$adh$eVg{bZigdh$YZ$^cheZXX^�c$

$, OgZh$hZchdgZh$^ciZa^\ZciZh$Zc$jcV$a^WgZg}V9$hZchdg$

YZ$YZ[ZXidh+$YZ$XdcXdgYVcX^V$n$YZ${gZV-

$, HdYZadh$eVgV$aZXijgV$YZ$X�Y^\d$YZ$WVggVh$0@$n$1@-

<NL\XZ!MN!3jMRPX!MN!

2JZZJ!@ZN[NWLN@<ECe@,

$, HdYZadh$ Zhi{cYVg$ d$ YZ$ VaiV$ gZhdajX^�c$ YZ$ 0+2$

bZ\Ve}mZaZh-

$, EciZg[Vo$YZa$jhjVg^d$egdWVYV+$Xdb�c$V$idYdh$adh$

hZchdgZh$"'$($&#$KGPN$-

BNM!MN!9'?!9WJUgVKZRLJ!

C]ZN3ZX[[b4H0(

$, MZXd\Z$YVidh$YZa$hZchdg$n$Xdbjc^XV$^c[dgbVX^�c$

Va$CViZlVn-

$, E.J$VcVa�\^XV$n$Y^hXgZiV$Zc$jcV$hdaV$jc^YVY-

$, HdYZadh$ 8//$ HDo$ d$ 1-3$ CDo$ Xdc$ deX^�c$ YZ$

VciZcVh-

H;9$?D6B[C7H?86$9;$;DJH696*I6B?96

C]ZN3ZX[[b!UJ!ZNM!RWJUgVKZRLJ!RWM][\ZRJU!YJZJ!9'?
$, NZ~VaZh$E.J$VcVa�\^XVh+$Y^hXgZiVh+$iZbeZgVijgV$n$hZg^VaZh-
$, Ab^hdg,gZXZeidg$eVgV$gZZbeaVoVg$jc$XVWaZ$YZ$hZ~Va$�c^Xd-
$, MZYZh$Xdc[j\jgVWaZh$eVgV$gZXd\Zg$X^Zcidh$YZ$hZ~VaZh-
$, GVh$deX^dcZh$!%$)KdlZgt$ejZYZc$iZcZg$Va^bZciVX^�c$edg$??+$edg$WViZg}Vh$d$ZcZg\}V$hdaVg-
$, AhijY^d$YZa$h^i^d$^ciZ\gVYd$eVgV$Za$Xdcigda$YZa$ZhiVYd$YZ$adh$ZcaVXZh$^cVa{bWg^Xdh-
$, MVY^d$h^c$a^XZcX^V$YZ$8//$HDo$n$1+3$CDo-$
$, KgdidXdad$YZ$hZ\jg^YVY$bjai^XVeVh-

?D9?869EH;I$;$?BKC?D68?_D

<]LN[!RWMRLJMXZJ[!RWM][\ZRJUN[!Vg[!^NZ[g\RUN[!N!RW\NURPNW\N[
$, AhiVYd$YZa$deZgVYdg$Z$^cY^XVYdgZh$YZ$dg^ZciVX^�c-
$, OdggZh$YZ$ajo$Xdc$kVg^dh$hZ\bZcidh$egZbdciVYdh$n$egZXdc[^\jgVYdh-$



/+

9U]VRWJLRjW

MN!FR[RjW

$, NZaZXX^�c$ XdbeaZiV$ YZ$ ajXZh$ '^cXajnZ$ ajXZh$ Zc$

Vc^aad+$ ^ajb^cVX^�c$ YZ$ [dcYd+$ ajXZh$ YZ$ {gZV+$ Zc$

Z_Z+$n$b{h(

$, GA@$ ^c[gVggd_dh+$ gd_dh+$ WaVcXdh+$ VojaZh$ d$ kZgYZh$

Xdc$ [jcX^dcVb^Zcid$Xdci^cjd$d$ZhigdWdhX�e^Xd$

n$Xdcigda$YZ$^ciZch^YVY-

$, ?VgXVhV$hZaaVYV$'EK57($n$cd$hZaaVYV$'EK4/(

$, GA@$ Xdc$ ^ajb^cVX^�c$ a^WgZ$ YZ$ bVciZc^b^Zcid$

Xdc$YjgVX^�c$YZ$b{h$YZ$4/-///$]dgVh-

@]U[JMXZ!MN!FNZRORLJLRjW!

5I%<978Db

$, =aiZgcVi^kV$YZ$ejahVYdg$YZ$hZ\jg^YVY$Zg\dc�b^Xd$

h^c$Zh[jZgod-

$, JeX^dcZh$ YZ$ ajXZh$ YZ$ igVWV_d$ kZgYZh+$ gd_Vh+$

VojaZh$n$XdbW^cVX^�c$kZgYZh.gd_Vh-

3XU]VWJ!MN!U]a!

5I%<978Db3<-(

$, HdYZadh$Xdc$0+$1+$d$2$XdadgZh$Y^hedc^WaZh-

$, >VhZ$gdhXVYV$YZ$2/$bb-

$, EcY^XZ$YZ$KgdiZXX^�c$EK56$'n$VjY^WaZ$EK43(

9WMRLJMXZ

5I%<978Db;+(<

$, @dbd$YZ$2/$bb$Xdc$WVhZ$gdhXVYV$YZ$11$bb-

$, NZchdgZh$YZ$egde�h^idh$\ZcZgVaZh$d$^cY^XVYdgZh$

YZ$ZbjaVYdgZh-

$, HdYZadh$Xdc$0+$1+$d$2$XdadgZh$Y^hedc^WaZh-

$, ?VgXVhV$gZ[dgoVYV$XaVh^[ ^XVX^�c$EK56-

CR[\NVJ!MN!FNZRORLJLRjW!

MN!YJZ\N[!5I%<978Db

$, ?dgi^cV$YZ$ajo$YZ$Ydh$XdbedcZciZh-

$, ?jVigd$aVg\dh$eVgV$VYVeiVg$V$iVbV~dh$cdgbVaZh$

YZ$gZX^e^ZciZh-

$, JeZgVc$]VhiV$1$b$YZ$VaXVcXZ-

CNW[XZ!5I%<978Db!;-(!

MN!]W!CXUX!@]W\X

$, DVhiV$2$XdadgZh$YZ$ajXZh$Zc$jc$Ydbd$n$WVhZ$YZ$

bdciV_Z$YZ$2/$bb-

$, HdYZadh$Xdc$hjegZh^�c$YZ$[dcYd+$gZigdgZ[aZXi^kdh$

d$Xdc$ejahVYdgZh-

$, ?V_Vh$gZ[dgoVYVh+$XaVh^[^XVYVh$EK58F-

DXZZN\J!MN!U]a!

5I%<978DbD<-(

$, KgZZchVbWaVYd$ YZ$ adh$ b�ai^eaZh$ hZ\bZcidh$YZ$

^cY^XVX^�c-

$, DVhiV$ 4$ XdadgZh$ Zc$ jcV$ hdaV$ idggZ;$ kVg^Vh$ ajXZh$

ejZYZc$ZhiVg$ZcXZcY^YVh$Zc$[dgbV$h^bjai{cZV-

$, BjcX^�c$VjY^WaZ$deX^dcVa-

$, BjZciZ$YZ$ajo$GA@$eVgV$Xdchjbd$YZ$WV_V$ZcZg\}V$

n$k^YV$aVg\V$YZ$deZgVX^�c-

CNW[XZ!5I%<978D!b

YJZJ!UJ!FNZRORLJLRjW!MN!@JZ\N[

$, NZchdg$YZ$ajo$YZ$jc$XdbedcZciZ-

$, BjcX^dcV$Zc$[dgbV$Vjidb{i^XV$Zc$bdYdh$Y^gZXid$

d$gZigdgZ[aZXi^kd-

$, 0//$d$114$bb$eVgV$VYVeiVghZ$V$adh$iVbV~dh$YZ$

gZX^e^ZciZh$ n$ Xdc[^\jgVX^dcZh$ Zm^hiZciZh$ Zc$ Za$

bZgXVYd-

$, DVhiV$1$b$YZ$VaXVcXZ$Zc$bdYd$gZigdgZ[aZXi^kd-

$, NdajX^dcZh$XdbeVi^WaZh$Xdc$WadfjZ$E.J-
$, NZchdgZh$K^X`,id,a^\]i$'hZaZXX^dcVc$Xdc$VnjYV$YZ$jcV$ajo(+$VXX^dcVYdgZh$n$Xdc_jcidh$YZ$ejahVYdgZh-
$, GjXZh$YZ$igVWV_d$eVgV${gZVh$edXd$^ajb^cVYVh-
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C,3

H07CMT1KL
6$[jcX^dcZh

=h^$n$>jh$YZ$XVbed

6$[jcX^dcZh

J.+
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O2/CMT1KL

=h^$n$>jh$YZ$XVbed
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867B;I$<B;N?7B;I

Ahidh$ egdYjXidh$Zhi{c$ [VWg^XVYdh$ eVgV$ hVi^h[VXZg$ adh$ gZfj^h^idh$b{h$

Zm^\ZciZh-

?dc$aV$\gVc$kVg^ZYVY$Y^hedc^WaZ$YZ$cjZhigdh$XdcYjXidgZh+$hZ$ejZYZc$

XjWg^g$ idYVh$ aVh$ cZXZh^YVYZh$ YZ$ hj$ ^chiVaVX^�c+$ VjcfjZ$ hZ$ igViZ$ YZ$

egdWaZbVh$Y^[}X^aZh-

?VYZcVh$ edgiVXVWaZh+$ gVXdgZh+$ egZchV$ ZhideVh$ 'iVbW^|c$ eVgV$ odcVh$ Xdc$ ?AH$ Xg}i^XV($ n$ bVc\jZgVh$ YZ$

egdiZXX^�c$Vbea}Vc$Za$egd\gVbV$n$\VgVci^oVc$aV$XdcZm^�c$�ei^bV$eVgV$XVYV$Vea^XVX^�c-$

3JKUN[!MN!VJWMX

!LXW!L]KRNZ\J!N_\NZRXZ!MN!@EB!

Xdc$d$h^c$VeVciVaaVb^Zcid-

$, =egde^VYdh$ Xdbd$ XVWaZh$ YZ$ bVcYd+$ Xdcigda+$

bZY^YV$n$XdcZm^�c$YZ$bdidgZh-

$, Pi^a^oVYdh$ Zc$ b{fj^cVh$ YZ$ ]ZggVb^ZciVh+$

^chiVaVX^dcZh$ n$ XdchigjXX^dcZh$YZ$bVfj^cVg^V$ n$

Vaa}$ YdcYZ$ hZ$ YZc$ jcVh$ XdcY^X^dcZh$ YZ$ igVWV_d$

YZ$ZmigZbV$YjgZoV-

3JKUN[!MN!VJWMX!`!

MJ\X[$!URKZN[!MN!QJUjPNWX[

Xdc$d$h^c$VeVciVaaVb^Zcid+$bZ_dg$

XdbedgiVb^Zcid$Zc$XVhd$YZ$^cXZcY^d-

$, =egde^VYdh$ Xdbd$ XVWaZh$ YZ$ bVcYd+$ Xdcigda+$

bZY^YV$n$igVchb^h^�c$YZ$YVidh-

$, Pi^a^oVYdh$Zc$ odcVh$ Xdc$\gVc$ XdcXZcigVX^�c$ YZ$

eZghdcVa$d$YZ$bViZg^VaZh$YZ$kVadg-

3JKUN[!MN!VJWMX!`!MJ\X[!

URKZN[!MN!QJUjPNWX[!LXW!L]KRNZ\J!@EB

hVi^h[VXZ$aV$?AH+$Xdc$d$h^c$VeVciVaaVb^Zcid-

$, =egde^VYdh$ Xdbd$ XVWaZh$ YZ$ bVcYd+$ Xdcigda$ n$

bZY^YV-

$, Pi^a^oVYd$eVgV$Zk^iVg$aV$ a^WZgVX^�c$YZ$]Va�\Zcdh$

Zc$XVhd$YZ$^cXZcY^d-

$, Pi^a^oVYdh$WV_d$ XdcY^X^dcZh$YZ$ [jcX^dcVb^Zcid$

YZ$ZmigZbV$YjgZoV-

3JKUN[!MN!VJWMX

LXW!L]KRNZ\J!MN!@F3

Xdc$d$h^c$VeVciVaaVb^Zcid-

$, =egde^VYdh$ Xdbd$ XVWaZh$ YZ$ bVcYd+$ bZY^YV$ n$

Xdcigda-

$, Pi^a^oVYdh$ Zc$ b{fj^cVh$ YZ$ ]ZggVb^ZciVh+$

^chiVaVX^dcZh$ n$ XdchigjXX^dcZh$ YZ$ bVfj^cVg^V+$$

h^hiZbVh$ YZ$ XVaZ[VXX^�c+$ kZci^aVX^�c$ n$ V^gZ$

VXdcY^X^dcVYd+$ n$ Zc$ bjX]dh$ digdh$ XVbedh$ YZ$

Vea^XVX^�c-

3JKUN[!MN!MJ\X[!`!MN

![R[\NVJ[!NUNL\ZjWRLX[!LXW

L]KRNZ\J!N_\NZRXZ!@F3!`!@EB$

Xdc$d$h^c$VeVciVaaVb^Zcid-

$, =egde^VYdh$ Xdbd$ XVWaZh$ YZ$ bVcYd+$ bZY^YV$ n$

Xdcigda$Xdc$VaiV$hZ\jg^YVY$YZ$igVchb^h^�c-

$, Pi^a^oVYdh$ Zc$ b{fj^cVh$ YZ$ ]ZggVb^ZciVh+$

^chiVaVX^dcZh$ n$ XdchigjXX^dcZh$ YZ$ bVfj^cVgV+$

Zc$ h^hiZbVh$ ^c[dgb{i^Xdh+$ Zc$ Vea^XVX^dcZh$ YZ$

bZY^YV$n$gZ\jaVX^�c+$Zc$igVchb^h^dcZh$YZ$kdo$Z$

^bV\Zc-$

867B;I$;NJH6<B;N?7B;I$F6H6$869;D6I$FEHJ6867B;I

3JKUN[!LXW!L]KRNZ\J

N_\NZRXZ!MN!@F3!`!@EB!

Xdc$d$h^c$VeVciVaaVb^Zcid-

$, =egde^VYdh$ Xdbd$ XVWaZh$ YZ$ bVcYd+$ Xdcigda$ n$

bZY^YV-

$, Pi^a^oVYdh$ e-Z_-$ Zc$ gdW�i^XV+$ h^hiZbVh$ YZ$

XdcYjXX^�c$ YZ$ ZcZg\}V+$ bVc^ejaVYdgZh$ Z$

^chiVaVX^dcZh$YZ$igVchedgiZ-$

I?IJ;C6I$J\8D?8EI$F6H6$;B$CEDJ6@;$9;

?DIJ6B68?ED;I$O$C[GK?D6I

3JKUN[!URKZN[!
MN!QJUjPNWX[$

Xdc$d$h^c$VeVciVaaVb^Zcid-

$, =egde^VYdh$ Xdbd$ XVWaZh$ YZ$ bVcYd+$ Xdcigda$

n$ bZY^YV-$ =eidh$ eVgV$ hdedgiVg$ igVWV_dh$

eZgbVcZciZh$ fjZ$ adh$ YdWaZc$ [}h^XVbZciZ-

NVi^h[VXZ$aV$?AH-

$, Pi^a^oVYdh$YdcYZ$hZV$cZXZhVg^d$hdedgiVg$\gVcYZh$

X^Xadh$YZ$bdk^b^Zcidh-
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3JKUN[!URKZN[

MN!QJUjPNWX[$

VeVciVaaVYdh+$h^c$VY]ZgZcX^V+$gZh^hiZciZh$V$aV$

VWgVh^�c$n$V$\gVhVh$d$VXZ^iZh$b^cZgVaZh-

$, =egde^VYdh$ Xdbd$ XVWaZh$ YZ$ hZ~Va^oVX^�c$ n$ YZ$

igVchb^h^�c$eVgV$VXX^dcVb^Zcidh+$ Veidh$eVgV$hj$

jhd$Zc$XVYZcVh$edgiVXVWaZh-

$, Pi^a^oVYdh$ Zc$ gdW�i^XV+$ Zc$ h^hiZbVh$ YZ$

XdcYjXX^�c$ YZ$ ZcZg\}V+$ Zc$ b{fj^cVh$ YZ$

]ZggVb^ZciV+$Zc$aVh$^chiVaVX^dcZh$YZ$igVchedgiZ+$

Xdc$YjgVh$XdcY^X^dcZh$YZ$igVWV_d-$ $

867B;I$F6H6$7KI;I$O$H;9;I

3JKUN[!LXW!

L]KRNZ\J!N_\NZRXZ!MN!

@F3$!D@5!X!@EB&

$, KVgV$ Za$ XVWaZVYd$ YZ$ adh$ h^hiZbVh$ YZ$ Wjh$ YZ$

XVbed$ ^cYjhig^VaZh+$ Veidh$ eVgV$ hj$ jhd$ Zc$

XVYZcVh$edgiVXVWaZh-

$, Pi^a^oVYdh$Zc$ gdW�i^XV+$ h^hiZbVh$YZ$ XdcYjXX^�c$

YZ$ZcZg\}V+$b{fj^cVh$YZ$]ZggVb^ZciVh+$h^hiZbVh$

YZ$igVchedgiZ+$Xdc$YjgVh$XdcY^X^dcZh$YZ$igVWV_d-

;J>;HD;J$?D9KIJH?6B

3JKUN[!5\QNZWN\!

9WM][\ZRJU$!LXW!L]KRNZ\J!

N_\NZRXZ!MN!@F3$6B>3!`!@EB&

$, KVgV$ aV$ gZVa^oVX^�c$ YZ$ gZYZh$ ZhigjXijgVYVh$ YZ$

Ai]ZgcZi$EcYjhig^Va+$Zc$XViZ\dg}V$4$hZ\�c$cdgbV$

ENJ.EA?$00/7/0$n$AI$4/062$XaVhZ$@-

$, KVgV$ YjgVh$ XdcY^X^dcZh$ YZ$ igVWV_d$ Zc$

aVh$ Vea^XVX^dcZh$ gdW�i^XVh+$ b{fj^cVh$ YZ$

]ZggVb^ZciVh+$a}cZVh$YZ$[VWg^XVX^�c+$h^hiZbVh$YZ$

igVchedgiZ+$XVYZcVh$edgiVXVWaZh-$

867B;I$8ED<;88?ED69EI$O$I?IJ;C6I$9;$8ED9K88?_D$9;$;D;H=]6$

@ZX`NLLRjW$!LXWONLLRjW&

?dc[ZXX^dcZh$ egZeVgVYVh$

ZmVXiVbZciZ$ hZ\�c$ hjh$

cZXZh^YVYZh-

IjZhigd$ eZghdcVa$ i|Xc^Xd$ aZ$ VXdchZ_V+$ egdnZXiV+$

egZeVgV$aV$YdXjbZciVX^�c$n$hZ$ad$hjb^c^higV$Xdc$

jcV$iZgb^cVX^�c$YZ$b{m^bV$XVa^YVY+$eVgV$gZVa^oVg$

Za$ bdciV_Z$ YZ$ ^chiVaVX^dcZh$ n.d$ [VWg^XVX^�c$ YZ$

bVfj^cVg^V-$

3JKUN[!URKZN!

MN!QJUjPNWX[!LXW!

L]KRNZJ!N_\NZRXZ!MN!@F3!`!@EB&

Xdc$d$h^c$VeVciVaaVb^Zcid-

$, =egde^VYdh$ Xdbd$ XVWaZh$ YZ$ bVcYd+$ Xdcigda$

n$ bZY^YV-$ =eidh$ eVgV$ hj$ jhd$ Zc$ XVYZcVh$

edgiVXVWaZh-

$, Pi^a^oVYdh$ e-Z_-$ Zc$ gdW�i^XV+$ h^hiZbVh$ YZ$

XdcYjXX^�c$ YZ$ ZcZg\}V+$ bVc^ejaVYdgZh$ Z$

^chiVaVX^dcZh$YZ$igVchedgiZ-
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$, ?VWaZh$XdbeZchVYdh-

$, ?VWaZh$eaVcdh$n$Zc$Zhe^gVa-

$, ?VWaZh$gZh^hiZciZh$Va$XVadg-

$, ?VWaZh$Xdc[ZXX^dcVYdh$Xdc$XdcZXidg$[gdciVa-

$, KaZi^cVh$aVb^cVYVh$YZ$XdWgZ-

$, HVc\jZgVh$YZ$XVWaZh$Xdc$XjW^ZgiV$YZ$\dbV-

EJHEI$J?FEI$9;$867B;I

FH;DI6;IJEF6I$F6H6$867B;I$C6D=;H6I$9;$FHEJ;88?_D

9?IJH?7K?9EH;I$F6H6$68JK69EH;I$*$I;DIEH;I$O$688;IEH?EI

3UJ[N!MN!

YZX\NLLRjW!9@!./&

$, H7$d$H01-

$, @ ^ h i g ^ W j ^ Y d g Z h$

egZXVWaZVYdh$ d$ eVgV$

hj$ XdcZm^�c$ Zc$ gZ\aZiZgd$ ZcX]j[VWaZ$ n$

egZchVZhideV-$

1LLN[XZRX[!YJZJ!

MR[\ZRK]RMXZN[!`!LJKUN[

?dcZXidgZh$gZYdcYdh$YZ$idYdh$

adh$i^edh$eVgV$Xdc[ZXX^�c$

^cY^k^YjVa-

$, @^hig^Wj^Ydg$Zc$rOs$H01.H01+$H01.H7+$XVWaZh$YZ$

XdcZm^�c$eVgV$Y^hig^Wj^YdgZh+$ZiX-

GV$ ji^a^oVX^�c$ YZ$ aVh$ XV_Vh$ YZ$ WdgcVh$ eZgiZcZXZ$

nV$ V$ i^Zbedh$ eVhVYdh-$ Gdh$ h^hiZbVh$ bdYZgcdh$

eZgb^iZc$ gZVa^oVg$ jcV$ ^chiVaVX^�c$ Zc$ bZcdh$

i^Zbed$n$V$bZ_dg$egZX^d-$

AhiZ$ h^hiZbV$ YZ$ Y^hig^WjX^�c$ YZ$ XVWaZh+$ Xdc$ Za$

ZbeaZd$ YZ$ XdcZXidgZh$ gZYdcYdh$ H7$ n$ H01+$ cdh$

d[gZXZ$ZhiV$kZciV_V-$

Aa$ Vbea^d$ egd\gVbV$ YZ$ egdYjXidh$ Y^hedc^WaZh+$

hZ$ XdbeaZbZciV$ Xdc$ adh$ XVWaZh$ H7+$ H01$ n$ hjh$

XdggZhedcY^ZciZh$XdcZXidgZh+$eVgV$hj$Xdc[ZXX^�c$

edg$Za$egde^d$^chiVaVYdg-

3JKUN[!YJZJ!JL\]JMXZN[!

`![NW[XZN[&

$, H7$ d$ H01+$ Xdc$ d$ h^c$

VeVciVaaVb^Zcid$ gZXidh$

n$VXdYVYdh-

$, HVc\jZgVh$YZ$2${$7$edadh+$Xdc$Za$[^cVa$YZa$XVWaZ$

VW^Zgid$d$XdbeaZiVbZciZ$Xdc[ZXX^dcVYd$-

EW![R[\NVJ!MN

YJ[J\JYJ[!]WR^NZ[JU!

YJZJ!LJKUN[$!

`J![NJW!MN!JL\]JMXZN[$!MN![NW[XZN[$!

MN!K][N[!X!MN!VJWMX&

H{h$h^beaZ+$b{h$g{e^Yd+$b{h$dgYZcVYd-

@ZNW[JN[\XYJ[!

VN\gURLX[!`!JLLN[XZRX[&

?dc$b{h$YZ$3/$i^edh-

$, Ac$Z_ZXjX^�c$b|ig^XV$n$KC-

$, KgZchVZhideVh$ Xdc$ gdhXV$ b|ig^XV$ d$ KC$

XdbeVi^WaZ$?AH-

@ZNW[JN[\XYJ[!

MN!YUg[\RLX!`

JLLN[XZRX[&

@^hedcZbdh$YZ$b{h$YZ$5/$i^edh$Zc$Z_ZXjX^�c$

b|ig^XV$n$KC-

=JWP]NZJ[!MN!YZX\NLLRjW!

MN!LJKUN[!NW!NSNL]LRjW!MN!

@F3!X!MN!@EB$!YZX^R[\J[!MN

!YZNW[JN[\XYJ[!MN!YUg[\RLX!3@!5<!MN!LXUXZ!PZR[&

$, ?dc$Zhe^gVa$YZ$KQ?$hdaYVYV-

$, @Z$VaiV$[aZm^W^a^YVY$n$ZhiVW^a^YVY$YZ$[dgbV-
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6>EHH6$;IF68?E($J?;CFE$O$8EIJ;I

IKFH;IEH;I$9;$?DJ;H<;H;D8?6I($C_9KBEI$

;$?DJ;H<68;I($$<K;DJ;I$9;$6B?C;DJ68?_D

I?IJ;C6I$9;$867B;69E$BI8$
?dcZXiVbdh$ adh$ XdbedcZciZh$ YZ$ adh$ XjVYgdh$ Za|Xig^Xdh$ bZY^VciZ$
jc$ h^hiZbV$ ^ccdkVYdg$ YZ$ XVWaZVYd-$ Kg{Xi^Xd+$ hZ\jgd$ n$ g{e^Yd;$
ZheZX^VabZciZ$jhVcYd$WVhi^YdgZh$GN?$egZXdc[ZXX^dcVYdh-

Jak}YZhZ$YZ$ aVh$eaVXVh$YZ$bdciV_Z$ Xdc$ hjh$ XVcVaZiVh$YZ$ XVWaZh$ n$ hjh$
XVgg^aZh$hZeVgVYdh$n$YZhe}YVhZ$YZa$Xdhidhd$igVWV_d$YZ$bZXVc^oVX^�c-$

Pi^a^XZ$ Za$ ediZcX^Va$ YZ$ V]dggd$ fjZ$ aZ$ egdedgX^dcV$ Za$ h^hiZbV$ GN?$
Xdc9$ V]dggd$ YZ$ ZheVX^d+$ gZYjXX^�c$ YZa$ i^Zbed$ YZ$ bdciV_Z+$ XVWaZVYd$

XdbeVi^WaZ$?AH$,$idYd$Zc$jc$eVfjZiZ-

2J[\RMXZ!LXVYUN\X!<C3

>Vhi^YdgZh$ XdbeaZidh$ GN?+$

Xdchigj^Ydh$ hZ\�c$ hjh$ ^cY^XVX^dcZh+$

gZYjXZc$ZheVX^d$YZ$VabVXZcVb^Zcid+$

i^Zbed$ YZ$ ^chiVaVX^�c$ n+$ edg$ iVcid$

XdhiZh-

FNW\JSJ[

$, Gdh$ WVhi^YdgZh$ hZ$ hjb^c^higVc$ nV$

bdciVYdh9$hZ$ejZYZ$ZbeZoVg$Y^gZXiVbZciZ$Xdc$

aV$XdadXVX^�c$YZ$ZaZbZcidh$n$Za$XVWaZVYd-

$, KgZchVZhideVh$ Xdc$

gdhXV$ b|ig^XV$ d$ KC$

XdbeVi^WaZ$?AH-

=JWP]NZJ[!MN!YZX\NLLRjW

MN!LJKUN[!NW

NSNL]LRjW!MN!@5$LXW

[XYXZ\N!MN!YUg[\RLX!G68

$, G^WgZ$YZ$]Va�\Zcdh-

$, HVc\jZgV$ XdVggj\VYV+$ VaiVbZciZ$ [ aZm^WaZ+$ eVgV$

Za$jhd$Zc$Vea^XVX^dcZh$b�k^aZh-$

=JWP]NZJ[!MN!YZX\NLLRjW

MN!LJKUN[!NW!NSNL]LRjW

MN!@XURJVRMJ!@1!.$!YZX^R[\J!

MN!YZNW[JN[\XYJ[!MN!YUg[\RLX!3H4&

$, G^WgZ$YZ$]Va�\Zcdh$n$gZh^hiZciZh$Va$[jZ\d-

$, HVc\jZgV$ XdVgj\VYV+$ [aZm^WaZ$ Xdc$ WjZcV$

gZh^hiZcX^V$fj}b^XV-

1LLN[XZRX[!YJZJ!NU!

VXW\JSN!`!QNZZJVRNW\J[&

CR[\NVJ!MN!LJKUNJMX!<C3

$, =]dggd$ YZ$ ZheVX^d$ Zc$ Za$ XjVYgd$

Za|Xig^Xd$ bZY^VciZ$ Za$ XVWaZVYd$

hZeVgVYd$edg$c^kZaZh+$edg$YZig{h$YZ$

adh$VeVgVidh-

$, Aa$XVWaZVYd$n$Za$hZgk^X^d$hZ$gZVa^oVc$YZhYZ$Za$aVYd$

YZaVciZgd

$, =]dggd$YZ$ZheVX^d$]VhiV$jc$2/$V$3/%-

$, HZ_dg$ Y^h^eVX^�c$ YZa$ XVadg$ \gVX^Vh$ V$ jcV$

kZci^aVX^�c$�ei^bV-

$, NZgk^X^d$ [{X^a$ n$ gZXVWaZVYd$ h^beaZ$ YZW^Yd$ Va$

ZheVX^d$Vbea^d$eVgV$adh$XVWaZh-

$, O^Zbed$YZ$^chiVaVX^�c$gZYjX^Yd$]VhiV$jc$7/%-

$, MZYjXX^�c$YZ$XdhiZh$]VhiV$jc$2/%-

Ac$Za$ XVbed$YZ$ aVh$egdiZXX^dcZh$ XdcigV$ aVh$ ^ciZg[ZgZcX^Vh$egdYjX^YVh$edg$

adh$ VeVgVidh$YZ$bVc^dWgV+$ ZaZXigdk{akjaVh$ n$ bdidgZh+$ Y^hedcZbdh$YZ$ adh$

XdbedcZciZh$ XdggZhedcY^ZciZh$eVgV$ VjbZciVg$ aV$hZ\jg^YVY$?AH$YZ$idYV$

aV$^chiVaVX^�c-



0+

FHEJ;88?ED;I$8EDJH6$?DJ;H<;H;D8?6I

@ZX\NLLRXWN[$!LXW\ZJ!

UJ[!YNZ\]ZKJLRXWN[!YZXM]LRMJ[!

YXZ!JYJZJ\X[!MN!VJWRXKZJ&
$, KVgV$iZch^dcZh$YZhYZ$01$]VhiV$3//$Q$=?.
@?+$Xdc$Y^[ZgZciZh$X^gXj^idh$YZ$egdiZXX^�c$n$
edh^W^a^YVYZh$YZ$XdcZm^�c-
$, H�Yjadh$jc^kZghVaZh$XdcigV$^ciZg[ZgZcX^Vh+$
Veidh$eVgV$idYdh$adh$XdciVXidgZh$cdgbVaZh$fjZ$
hZ$ZcXjZcigVc$Zc$Za$bZgXVYd-
$, H�Yjadh$ZheZX^VaZh$XdcigV$aVh$^ciZg [ZgZcX^Vh$
egdYjX^YVh$edg$adh$XdciVXidgZh$YZ$N^ZbZch$
'NEMEPN(+$=AC+$HdZaaZg$ZiX-

@ZX\NLLRjW!

LXW\ZJ!UJ[!RW\NZONZNWLRJ[!

YZXM]LRMJ[!YXZ!VX\XZN[&

$, KVgV$iZch^dcZh$YZhYZ$01$]VhiV$5//$Q$ n$bdidgZh$

YZ$]VhiV$2/$FR-

$, HdciV_Z$Zc$Za$XjVYgd$Za|Xig^Xd$'hdWgZ$XVgg^a$@EI($

d$Y^gZXiVbZciZ$Zc$Za$egde^d$bdidg-

@ZX\NLLRXWN[!LXW\ZJ!

RW\NZONZNWLRJ[!YZXM]LRMJ[!

YXZ!NUNL\ZX^gU^]UJ[&

$, ?dc$ XVWaZh$ YZ$ XdcZm^�c$ YZ$ KQ?$

n$ KPM+$ h^c$ Xdc[ZXX^dcVg$ d$ Xdc[ZXX^dcVYdh$ Xdc$$

XdcZXidgZh$'H7$d$H01(-

$, =egde^VYVh$ eVgV$ idYVh$ aVh$ ZaZXigdk{akjaVh$

cdgbVa^oVYVh$ Xdc$ Y^[ZgZciZh$ [jcX^dcZh$

YZ$ egdiZXX^�c$ XdcigV$ aVh$ ^ciZg[ZgZcX^Vh$ n$

hdWgZiZch^dcZh-

$, ?dc$d$h^c$^cY^XVYdg$YZ$ZhiVYd-

$, Afj^eVYVh$Xdc$Y^[ZgZciZh$adc\^ijYZh$YZ$XVWaZh-

6B?C;DJ68?_D$9;$;D;H=]6$;B\8JH?86

6]NW\N[!MN
!JURVNW\JLRjW
LXWV]\JMJ[&

$, Hdcd[{h^XVh+$W^[{h^XVh$n$ig^[{h^XVh-
$, =bea^d$ XVbed$ YZ$ iZch^dcZh$ YZ$ ZcigVYV$ YZhYZ$
74$]VhiV$44/$Q$eVgV$hj$ji^a^oVX^�c$jc^kZghVa-
$, A_ZXjX^dcZh$YZ$1+$4+$0/+$1/$n$YZ$3/$=$Xdc$[jcX^�c$
YZ$VjbZcid$YZ$ediZcX^V$'KdlZg,>ddhi(-
$, BjcX^�c$JkZg$adVY$d$N]ji$Ydlc-
$, KVgV$bdciVg$Zc$XVgg^a$@EI$YZ$24$bb-
$, KB?-

Ac$ Za$ XVbed$ YZ$ aV$ Va^bZciVX^�c$ YZ$ ZcZg\}V$ Za|Xig^XV$ XjWg^bdh$ idYVh$ aVh$ YZbVcYVh$ YZ$ aV$ eg{Xi^XV$ Xdc$

cjZhigVh$[jZciZh$YZ$Va^bZciVX^�c+$gZ\jaVYdgZh$XdcbjiVYdh$n$igVch[dgbVYdgZh$YZ$bVcYd-

GV$ iZXcdad\}V$YZ$adh$b�Yjadh$YZ$ XdcZm^�c$Z$ ^ciZg[VXZh+$Zhi{$gZegZhZciVYV$Zc$Za$egd\gVbV+$edg$jc$\gVc$

c�bZgd$YZ$Y^[ZgZciZh$XdbedcZciZh+$ejY^ZcYd$gZVa^oVg$XVh^$XjVafj^Zg$i^ed$YZ$̂ ciZg[VXZ$V$c^kZa$YZ$Vea^XVX^�c-

$, @?$13$Q+$07$R,13/$R-
$, ?dchigjXX^�c$ XdbeVXiV+$ eVgV$ bdciVg$ Zc$ XVgg^a$
@EI$YZ$24$bb-
$, KB?

6]NW\N[!MN!
JURVNW\JLRjW!
LXWV]\JMJ[&

$, =?$8/,154$Q-

6]NW\N[!MN!
JURVNW\JLRjW&

Hdcd[{h^XVh$n$ig^[{h^XVh$[ ^aigVYVh-
$, OdYVh$ aVh$ [jZciZh$ YZ$ Va^bZciVX^�c$

Zhi{c$VegdWVYVh$edg$PG$n$?N=-
$, @^bZch^dcVYVh$hZ\�c$AI$50447,1$n$AI$50///,2,
1$n$2,2-
$, 0//%$A@$Xdc$hj$XVg\V$cdb^cVa$]VhiV$5/x?-

?DJ;H<68;I
=jM]UX[!YJZJ!NU!VXW\JSN!MN!

LXVYXWNW\N[&
$, KVgV$ ^chiVaVg$ hdWgZ$ XVgg^a$ @EI-$

?VeVX^YVY+$]VhiV$01$XdbedcZciZh-
$, KVgV$ Vbea^Vg$ aVh$ ^chiVaVX^dcZh$ edhiZg^dgbZciZ$
h^c$egdWaZbVh-



0,

8EDL;HJ?9EH;I$9;$I;^6B

3XW^NZ\RMXZN[!
MN!UJ![NZRN!=RLZXTXW&

$, NZ$ ejZYZc$ hjb^c^higVg$
Xdc$ hVa^YVh$ n$ ZcigVYVh$
[ ^_Vh$ d$ Xdc$ 8$ gVc\dh$

hZaZXX^dcVWaZh-
$, =aiV$egZX^h^�c$'/+0%(-
$, Ac$[dgbV$XdchigjXi^kV$H^XgdXdbeVXi$YZ$5+1$bb$
eVgV$V]dggVg$ZheVX^d-
$, NZeVgVX^�c$ \Vak{c^XV$YZ$1$ n$2$ k}Vh$ iVbW^|c$Zc$
[dgbVid$5+1$bb-

3XW^NZ\RMXZN[!]WR^NZ[JUN[&
$, ?dc$37$gVc\dh$hZaZXX^dcVWaZh-
$, ?dc$ V^haVb^Zcid$ \Vak{c^Xd$ ZcigZ$
ZcigVYV+$hVa^YV$n$Va^bZciVX^�c$Xdc$
=?.@?$13,13/$Q-

$, Ac$ [dgbV$ XdchigjXi^kV$ H^XgdXdbeVXi$ YZ$ 06+4$
bb$eVgV$V]dggVg$ZheVX^d-
$, NZeVgVX^�c$\Vak{c^XV$YZ$1$n$2$k}Vh-

=jM]UX[!MN!^RPRUJWLRJ&

$, ?dc$d$h^c$V^haVb^Zcid$\Vak{c^Xd-

$, =aiV$egZX^h^�c$'/+2$%(-

$, I^kZaZh$ YZ$ YZiZXX^�c$ a^WgZbZciZ$

V_jhiVWaZ-

$, D^hi|gZh^h$V_jhiVWaZ-

BNUh[!MN!
[NVRLXWM]L\XZN[&

$, KVgV$ XdcZXiVg$ h^c$
XdciVXidh-
$, GVg\V$ k^YV$ YZ$

[jcX^dcVb^Zcid-$ NdedgiV$ jc$ Vaid$ c�bZgd$ YZ$
bVc^dWgVh-
$, Ac$[dgbV$XdchigjXi^kV$H^XgdXdbeVXi$YZ$5+1$bb+$
fjZ$eZgb^iZ$Za$V]dggd$YZ$ZheVX^d-
$, NZ$Y^hedcZ$YZ$b{h$YZ$2/$i^edh$Y^[ZgZciZh-

BNUh[&
KVgV$XdcZXiVg$a^WgZ$YZ$

ediZcX^Va-
$, Ac$ [dgbV$ XdchigjXi^kV$
H^XgdXdbeVXi$ YZ$
5+1$ bb$ eVgV$ V]dggVg$

ZheVX^d-
$, =YZb{h$ hZ$ Y^hedcZ$ YZ$ jc$ hjgi^Yd$ YZ$ bdYZadh$
Xdc$ ]dbdad\VX^dcZh$ ZheZX^VaZh$ 'jG+$ CG+$ AI$
4/044(-
$, DVn$b{h$YZ$5/$i^edh$Y^[ZgZciZh$Y^hedc^WaZh-
$, AcigVYV$YZ$Vbea^d$gVc\d-
$, AcX]j[VWaZ-

=XM]UX!MN!RW\NZLXWN_RjW&
$, ?dckZgh^�c$ YZ$ NP>,@$ d$ XdcZXidg$
eaVcd$ V$ gZ\aZiZgd$ YZ$ WdgcVh+$ eVgV$
jc^g$ adh$ XVWaZh$ YZ$ XdcZm^�c$ Xdc$ adh$
XVWaZh$YZ$^chiVaVX^�c-

$, @^hedcZbdh$YZ$b{h$YZ$2/$i^edh$Y^[ZgZciZh-

BNUh[!MN!
[NVRLXWM]L\XZN[&

$, KVgV$ XdcZXiVg$ h^c$
XdciVXidh-
$, GVg\V$ k^YV$ YZ$

[jcX^dcVb^Zcid-$ NdedgiV$ jc$ Vaid$ c�bZgd$ YZ$
bVc^dWgVh-
$, Ac$[dgbV$XdchigjXi^kV$H^XgdXdbeVXi$YZ$5+1$bb+$
fjZ$eZgb^iZ$Za$V]dggd$YZ$ZheVX^d-
$, NZ$Y^hedcZ$YZ$b{h$YZ$2/$i^edh$Y^[ZgZciZh-

<?33%2X_
LXW\ZXU!MN!LXZZRNW\N

$, KgdiZXX^�c$ [^VWaZ$ YZ$
X^gXj^idh$YZ$13Q$@?-
$, CVgVci^oVg$ aV$ hZaZi^k^YVY$YZ$
bdYd$^ciZa^\ZciZ-

$, HdYjaVg$n$[ aZm^WaZ-
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Gdh$ ^ciZggjeidgZh$ YZ$ hZ\jg^YVY$ Am$ Xdc$

VXX^dcVb^Zcid$ ^cYZeZcY^ZciZ+$ hdc$ VYZXjVYdh$

Zc$WVggZgVh$YZ$hZ\jg^YVY$YZha^oVciZh+$e^kdiVciZh+$

n$ Zc$ eVgi^XjaVg$ Zc$ aVh$ b�k^aZh+$ fjZ$ i^ZcZc$ fjZ$

ZhiVg$ XZggVYVh$eVgV$\VgVci^oVg$ Za$ [jcX^dcVb^Zcid$

Zc$ XdcY^X^dcZh$ YZ$ hZ\jg^YVY-$ OVbW^|c$ hdc$

VYZXjVYdh$ eVgV$ bdciVg$ Zc$ eZg[^aZh$ n$ VXdeaVg$ V$

Zfj^edh$nV$Zm^hiZciZh-

Ac$ adh$ ^ciZggjeidgZh$ YZ$ hZ\jg^YVY$ Am$ Xdc$

VXX^dcVb^Zcid$ ^cYZeZcY^ZciZ+$ Za$ ^ciZggjeidg$

cd$ Zhi{$ [}h^XVbZciZ$ jc^Yd$ Va$ ZaZbZcid$ fjZ$

VXi�V+$ h^ZcYd$ Za$ ^ciZggjeidg$ Za$ fjZ$ ]VXZ$ fjZ$ hZ$

VWgV$ d$ X^ZggZ-$ ?jVcYd$ aV$ WVggZgV$ Zhi{$ VW^ZgiV+$ Za$

VXX^dcVb^Zcid$ Zhi{$ hZeVgVYd$YZ$ aV$ WVhZ-$ Ac$ ZhZ$

egdXZhd+$adh$XdciVXidh$I?$hZ$VWgZc$edh^i^kVbZciZ$

n$adh$XdciVXidh$IJ$hZ$X^ZggVc-$NZ$Y^hedcZ$YZ$jcV$

Vbea^V$\VbV$YZ$VXXZhdg^dh$eVgV$adh$^ciZggjeidgZh$

YZ$ hZ\jg^YVY+$ fjZ$ ^cXajnZc$ VXX^dcVb^Zcidh$

XdY^[ ^XVYdh+$n$iVbW^|c$hdc$VYZXjVYdh$eVgV$gVY^dh$

eZfjZ~dh-$

OdYdh$ adh$ ^ciZggjeidgZh$ YZ$ hZ\jg^YVY$ $ i^ZcZc$

egdiZXX^�c$YZ$XaVhZ$EK$54.56-

;;N$40$6P

;;N$..0$6P

;;N$6P$,1

;;N$IJ$,/

Gdh$^ciZggjeidgZh$YZ$hZ\jg^YVY$Am$e^kdiVciZh$hdc$
VYZXjVYdh$eVgV$WVggZgVh$YZ$hZ\jg^YVY$e^kdiVciZh$
fjZ$ i^ZcZc$fjZ$ZhiVg$ XZggVYVh$eVgV$\VgVci^oVg$ Za$
[jcX^dcVb^Zcid$Zc$XdcY^X^dcZh$YZ$hZ\jg^YVY-

Ac$ \ZcZgVa+$ adh$ ^ciZggjeidgZh$ YZ$ hZ\jg^YVY$ Zc$

WVggZgVh$e^kdiVciZh$i^ZcZc$ aV$ kZciV_V+$ gZheZXid$V$

adh$ ^ciZggjeidgZh$ YZ$ edh^X^�c$ Xdc$ [jcX^dcZh$ YZ$

hZ\jg^YVY+$ YZ$ ^cXdgedgVg$ aV$ aZkV$ YZ$ VXijVX^�c$

^ciZ\gVYV$ Zc$ Za$ ^ciZggjeidg$ YZ$ hZ\jg^YVY-$ NZ$

XjbeaZc$ adh$ gZfj^h^idh$YZ$AI$0/77$Zc$Za$ hZci^Yd$

YZ$jc^�c$edh^i^kV$ZcigZ$ aV$ aZkV$ n$ Za$ ZaZbZcid$YZ$

VXX^dcVb^Zcid+$n$egdiZXX^�c$XdcigV$̂ ciZg[ZgZcX^Vh-

AhiV$XdbW^cVX^�c$fjZ$egZhZciVc$adh$^ciZggjeidgZh$

Am$hjedcZc$jc$V]dggd$Zc$XdhiZh$eVgV$adh$jhjVg^dh$

Va$ Zk^iVg$ aV$ cZXZh^YVY$ YZ$ bdciVg$ jcV$ aZkV$ YZ$

Y^hZ~d$ZheZX^Va-$Ahidh$^ciZggjeidgZh$YZ$hZ\jg^YVY$

kVc$Zfj^eVYdh$Xdc$XdciVXidh$YZ$gZVXX^�c$aZciV-

;;N$,.$I7 ;;N$40$J08

;;N$..0$/L,+> ;;N$40$I7
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Gdh$ X^ZggZh$ YZ$ hZ\jg^YVY$ Am$ YZ$ aV$ hZg^Z$ =UH.

=UK$ \VgVci^oVc$ fjZ$ aVh$ WVggZgVh$ YZ$ hZ\jg^YVY$

YZha^oVciZh+$ e^kdiVciZh$ n$ b�k^aZh$ 'kZg_Vh+$

iZ_VY^aadh$ d$ ejZgiVh($ cd$ hZ$ ejZYVc$ VWg^g$ ]VhiV$

fjZ$ YZhVeVgZoXVc$ YZiZgb^cVYVh$ X^gXjchiVcX^Vh$

eZa^\gdhVh$ 'e-Z_-$ YZheaVoVb^Zcidh$ gZh^YjVaZh(-$

E\jVabZciZ+$Zhidh$X^ZggZh$YZ$hZ\jg^YVY$hZ$ZbeaZVc$

iVbW^|c$ eVgV$ gZhig^c\^g$ Za$ VXXZhd$ V$ egdXZhdh$ YZ$

[VWg^XVX^�c-

Ac$ aV$ hZg^Z$ YZ$ X^ZggZh$ YZ$ hZ\jg^YVY$ =UH.=UK+$ Za$

^ciZggjeidg$ ^cXajnZ$ eVhVYdgZh$ YZ$ WadfjZd+$ n$ Za$

ZaZbZcid$ YZ$ VXX^dcVb^Zcid$ Zhi{$ hZeVgVYd$ n$ hZ$

^chZgiV$ Va$ VXX^dcVg$ Za$ ^ciZggjeidg-$ Gdh$ X^ZggZh$ YZ$

hZ\jg^YVY$ hdc$ Veidh$ eVgV$ ZbeaZd$ Zc$ odcVh$ Xdc$

g^Zh\d$YZ$Zmeadh^�c$edg$\VhZh$0$n$1$n$iVbW^|c$Zc$

odcVh$XdcigV$Zmeadh^dcZh$edg$edakd$10$n$11-

;;N$IJC$-40$ ;;N$6PC$/,0$

;;N$6PF$/,0$

Gdh$ ^ciZggjeidgZh$ YZ$ edh^X^�c$ Am$ Xdc$ [jcX^dcZh$
YZ$ hZ\jg^YVY$ hdc$ VYZXjVYdh$ Zc$ WVggZgVh$ YZ$
hZ\jg^YVY$YZha^oVciZh+$e^kdiVciZh+$n$Zc$eVgi^XjaVg$
Zc$ aVh$ b�k^aZh+$ fjZ$ i^ZcZc$ fjZ$ ZhiVg$ XZggVYVh$
eVgV$\VgVci^oVg$Za$[jcX^dcVb^Zcid$Zc$XdcY^X^dcZh$
YZ$ hZ\jg^YVY-$ Gdh$ ^ciZggjeidgZh$ YZ$ hZ\jg^YVY$
Xdc$ VXX^dcVb^Zcid$ ^cYZeZcY^ZciZ$ XjbeaZc+$
VYZXjVYVbZciZ$ XdbW^cVYdh+$ Xdc$ aV$ cdgbV$ AI$
843,0+$XViZ\dg}Vh$2$d$3+$hdWgZ$Xdcigda$YZ$WVggZgVh-

Ac$adh$^ciZggjeidgZh$YZ$edh^X^�c$Am$Xdc$[jcX^dcZh$
YZ$ hZ\jg^YVY+$ adh$ Y^hedh^i^kdh$ YZ$ WVggZgV$ n$ Za$
XdciVXid$ YZ$ X^ZggZ$ edh^i^kd$ I?$ aaZkVc$ XdcZm^�c$
edh^i^kV-$HjX]dh$YZ$adh$^ciZggjeidgZh$YZ$edh^X^�c$
Am$XjbeaZc$adh$gZfj^h^idh$YZ$aV$cdgbV$EA?$5/836,
4,0-

Gdh$ gZfj^h^idh$ eVgi^XjaVgZh$ YZ$ aVh$ Vea^XVX^dcZh$
^cYjhig^VaZh$ YZbVcYVc$ hdajX^dcZh$
^cY^k^YjVa^oVYVh-$Gdh$YZiVaaZh$YZ$Y^hZ~d$gZheZXid$
V$Y^bZch^dcZh$YZa$ XjZged+$bViZg^VaZh+$XVeVX^YVY$
YZ$ XVg\V$ Za|Xig^XV+$ kVadgZh$ ZheZX^[^XVYdh$ n$
XVgVXiZg}hi^XVh$ YZ$ XVa^YVY+$ k^ZcZc$ YZiZgb^cVYdh$
Zc$\gVc$eVgiZ$edg$aV$Y^kZgh^YVY$YZ$aVh$Vea^XVX^dcZh+$
YZhYZ$aV$bZX{c^XV$YZ$egZX^h^�c$]VhiV$aV$̂ c\Zc^Zg}V$
W{h^XV-$ PcV$ Vbea^V$ \VbV$ YZ$ ZaZbZcidh$ YZ$

VXX^dcVb^Zcid$XdbeaZiV$Za$egd\gVbV-$

NZ$Y^hedcZ$YZ$Y^hi^ciVh$kZgh^dcZh$YZ$VXX^�c$h�W^iV$
d$aZciV-

;;N$,/$LAK
;;N$..0$/L>$

;;N$1,$M ;;N$40$M>C
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;;N$H8$I?$C.+
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Gdh$ i^gVYdgZh$ YZ$ ZbZg\ZcX^V$ Amedg$ XVWaZ$ hZ$

ZbeaZVc$ Zc$ b{fj^cVh$ Z$ ^chiVaVX^dcZh$ fjZ$ cd$

hZ$ ejZYZc$ egdiZ\Zg$ edg$ bZY^d$ YZ$ iVeVh$ YZ$

hZ\jg^YVY-$=a$XdcigVg^d$YZ$adh$WdidcZh$YZ$eVgVYV$

YZ$ZbZg\ZcX^V$Am+$adh$i^gVYdgZh$YZ$ZbZg\ZcX^V$edg$

XVWaZ$ ejZYZc$VXX^dcVghZ$ YZhYZ$ XjVafj^Zg$ejcid$

YZa$ XVWaZ-$ OdYdh$ adh$ i^gVYdgZh$ YZ$ ZbZg\ZcX^V$Am$

edg$ XVWaZ$ XjbeaZc$ Xdc$ aVh$cdgbVh$ AjgdeZVh$ AI$

307$Z$EA?$5/836,4,4-

Am^hiZc$i^gVYdgZh$YZ$XVWaZ$YZ$ZbZg\ZcX^V$Am$fjZ$

hZ$ejZYZc$ VXX^dcVg$YZhYZ$jc$ hdad$ aVYd$ d$YZhYZ$

adh$ Ydh$ ZmigZbdh$ YZa$ XVWaZ-$ OdYdh$ adh$ i^gVYdgZh$

aaZkVc$ ^ciZ\gVYV$ jcV$ [jcX^�c$ fjZ$ XdcigdaV$ aV$

gdijgV$ YZa$ XVWaZ-$ ?jVcYd$ hZ$ VXX^dcV$ jc$ i^gVYdg$

YZ$ XVWaZ$ YZ$ ZbZg\ZcX^V$ Am+$ d$ h^$ hZ$ gdbeZ$ Za$

XVWaZ+$ hZ$ VWgZc$ idYdh$ adh$ XdciVXidh$ I?$ n$ idYdh$

adh$ XdciVXidh$IJ$ hZ$ X^ZggVc-$ OdYdh$ adh$ i^gVYdgZh$

YZ$ XVWaZ$ YZ$ ZbZg\ZcX^V$ Am$ i^ZcZc$ jcV$ XVgXVhV$

bZi{a^XV$ gdWjhiV-$ Am^hiZ$ jcV$ Vbea^V$ \VbV$ YZ$

VXXZhdg^dh$eVgV$idYdh$adh$i^edh$YZ$egdYjXid-

Gdh$ hZchdgZh$ bV\c|i^Xdh$ YZ$ hZ\jg^YVY$ Am$ YZ$ aV$
\VbV$AAm$M?$N^,h^gkZc$eVgV$XdcigdaVg$ aV$edh^X^�c$
YZ$WVggZgVh$YZ$ hZ\jg^YVY$YZha^oVciZh+$e^kdiVciZh$
n$b�k^aZh-$Gdh$hZchdgZh$bV\c|i^Xdh$YZ$hZ\jg^YVY$
Am$ hdad$ YZWZc$ ji^a^oVghZ$ Zc$ [jcX^dcZh$ YZ$
hZ\jg^YVY$hZ\�c$@EI$Q@A$/55/,1/8+$XdbW^cVYdh$

Xdc$jc$h^hiZbV$YZ$Xdcigda$YZ$WVggZgV$YZ$aV$\VbV$

NMH$Xdc$egdiZXX^�c$]VhiV$?ViZ\dg}V$3$ hZ\�c$AI$

843,0-$ GV$ji^a^oVX^�c$ YZ$ adh$ hZchdgZh$bV\c|i^Xdh$

YZ$ hZ\jg^YVY$ Am$ Zh$ ZheZX^VabZciZ$ kZciV_dhV$

XjVcYd$aVh$XdcY^X^dcZh$YZ$igVWV_d$hdc$YZ$bjX]V$

hjX^ZYVY$ d$ XjVcYd$ hZ$ gZfj^ZgZ$ bVciZcZg$ Vaidh$

c^kZaZh$ YZ$ ]^\^ZcZ-$ Nj$ VYZXjVX^�c$ hZ$ Xdch^\jZ$

edg$ aV$ hZcX^aaZo$ n$ ejaXg^ijY$ YZ$ hj$ Y^hZ~d-$ JigV$

kZciV_V$ Zh$ aV$ edh^W^a^YVY$ YZ$ bdciVgadh$ dXjaidh$

WV_d$ bViZg^VaZh$ cd$ bV\c|i^Xdh-$ GV$ \VbV$ AAm$

M?$ N^$ YZ$ hZchdgZh$ bV\c|i^Xdh$ YZ$ hZ\jg^YVY$ Am$

ejZYZ$ ji^a^oVghZ$ Zc$ XVhdh$ Zc$ fjZ$ cd$ Zh$ edh^WaZ$

jc$ VXZgXVb^Zcid$ YZ$ egZX^h^�c+$ Zm^\^|cYdhZ$ jcV$

Zhig^XiV$idaZgVcX^V-

Ahidh$Y^hedh^i^kdh$ ^cXajnZc$jc$ hZchdg$bV\c|i^Xd$

YZ$ hZ\jg^YVY$ Zm$ bjai^XVcVa$ n$ jc$ ^b{c$ YZ$

VXX^dcVb^Zcid$XdY^[^XVYd-

;;N$PI$2.$L9
;;N$PI$20$L9

;;N$PI$3+
;;N$PI$4+$I

;;N$PI$2,$L9
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;;N$,- ;;N$40$M>AC

;;N$,.$9I
;;N$..0$/L>

NZ$ ZbeaZVc$ adh$ ^ciZggjeidgZh$ YZedh^X^�c$ Am$
XjVcYd$ Zh$ cZXZhVg^d$ edh^X^dcVg+$ XdcigdaVg$ n$
VXX^dcVg$e^ZoVh$b�k^aZh$YZ$b{fj^cVh$d$ZaZbZcidh$
b�k^aZh$Zc$aVh$^chiVaVX^dcZh-$Gdh$Y^hi^cidh$XVbedh$
YZ$Vea^XVX^�c$kVc$YZhYZ$aV$bZX{c^XV$YZ$egZX^h^�c$
]VhiV$bVfj^cVg^V$eZhVYV+$edg$ad$fjZ$hZ$gZfj^ZgZc$
bViZg^VaZh$Y^hi^cidh+$Y^hi^ciVh$ediZcX^Vh$Za|Xig^XVh$
n$ Y^[ZgZciZh$ Xg^iZg^dh$ gZheZXid$ V$ aV$ XVa^YVY$ YZ$
[VWg^XVX^�c-

HjX]dh$^ciZggjeidgZh$YZ$edh^X^�c$Am$XjbeaZc$adh$
gZfj^h^idh$YZ$aVh$cdgbVh$EA?$5/836$4,0-

Gdh$ gZfj^h^idh$ eVgi^XjaVgZh$ YZ$ aVh$ Vea^XVX^dcZh$
^cYjhig^VaZh$ YZbVcYVc$ hdajX^dcZh$
^cY^k^YjVa^oVYVh-$Gdh$YZiVaaZh$YZ$Y^hZ~d$gZheZXid$
V$Y^bZch^dcZh$YZa$XjZged+$bViZg^VaZh+$XVeVX^YVY$
YZ$ XVg\V$ Za|Xig^XV+$ kVadgZh$ ZheZX^[^XVYdh$ n$
XVgVXiZg}hi^XVh$YZ$XVa^YVY$k^ZcZc$YZiZgb^cVYdh$Zc$
\gVc$eVgiZ$edg$ aV$Y^kZgh^YVY$ YZ$ aVh$ Vea^XVX^dcZh-$
PcV$Vbea^V$\VbV$YZ$ZaZbZcidh$YZ$VXX^dcVb^Zcid$
XdbeaZiV$Za$egd\gVbV-

NZ$Y^hedcZ$YZ$Y^hi^ciVh$kZgh^dcZh$YZ$VXX^�c$h�W^iV$
d$aZciV-

Gdh$ Y^hedh^i^kdh$ YZ$ bVcYd$ Am$ hZ$ bdciVc$ Zc$

VgbVg^dh$YZ$VeVgZaaV_Z$Am+$Zc$eVcZaZh$YZ$ Xdcigda+$

eVcZaZh$YZ$ Xdcigda$V$Ydh$bVcdh$n$ [VWg^XVX^�c$YZ$

ZaZkVYdgZh-$ ?jVcYd$ hZ$ VXX^dcVc$ bVcjVabZciZ+$

Za$ Y^hedh^i^kd$ ^c^X^V$ hZXjZcX^Vh$ YZ$ VXX^dcZh$ n$

egdXZhdh$[jcX^dcVaZh$d$W^Zc$adh$[^cVa^oV-$

Am^hiZc$ kZgh^dcZh$ Xdc$ ^ciZggjeidgZh$ YZ$ Wdi�c+$

hZaZXidgZh+$Xdc$aaVkZ+$n$YZ$eVgVYV$YZ$ZbZg\ZcX^V-$

Gdh$ WdidcZh$ YZ$ eVgVYV$ YZ$ ZbZg\ZcX^V$ kVc$

XdcZXiVYdh$ Va$ X^gXj^id$ YZ$ hZ\jg^YVY$ YZ$ aVh$

b{fj^cVh$d$^chiVaVX^dcZh-$?jbeaZc$aVh$Zm^\ZcX^Vh$

YZ$aV$cdgbV$AI$5/1/3,0-

Ahidh$ Y^hedh^i^kdh$ YZ$ bVcYd$ hZ$ bdciVc$ Zc$

Vad_Vb^Zcidh$ YZ$ bdciV_Z$ YZ$ y$ 11+4$ bb$ n$

Xdck^ZcZ$ YZ_Vg$ 2/$ bb$ ZcigZ$ adh$ XZcigdh$ YZ$ Ydh$

Y^hedh^i^kdh$Xdci^\jdh-$OdYdh$adh$VXX^dcVb^Zcidh$

i^ZcZc$egdiZXX^�c$ EK$56$ n$ adh$ Y^hedh^i^kdh$ i^ZcZc$

YdWaZ$V^haVb^Zcid$ hZ\�c$XaVhZ$ EE-$ Aa$ ZaZbZcid$YZ$

VXX^dcVb^Zcid$ hZ$ XdcZXiV$ Va$ ^ciZggjeidg$ AAm$ 03$

edg$bZY^d$YZ$jc$ZcXaVkVb^Zcid$YZ$WVndcZiV-$

Gdh$ ^ciZggjeidgZh$ hZ$ ejZYZc$ hjb^c^higVg$ Xdc$

VXX^�c$aZciV-

;;N$,/$HKL ;;N$,/$HII6

;;N$,/$HJ ;;N$,/$HIJ#L-6



02

?DJ;HHKFJEH;I$9;$6B?D;6C?;DJE$9;$8EHH;6I$;N

I;DIEH;I$C6=D\J?8EI$;N

Gdh$^ciZggjeidgZh$YZ$Va^cZVb^Zcid$YZ$XdggZVh$hdc$

VYZXjVYdh$Zc$Vea^XVX^dcZh$V$igVchedgiVYdgZh$YZ$

egdYjXidh-

Gdh$ ^ciZggjeidgZh$ YZ$ Va^cZVb^Zcid$ YZ$ XdggZVh$

Am$ VXi�Vc$ XjVcYd$ hZ$ e^ZgYZ$ aV$ Va^cZVX^�c$ YZ$ aVh$

XdggZVh$ YZ$ adh$ igVchedgiVYdgZh-$ @ZeZcY^ZcYd$

YZ$ aV$ Y^hedh^X^�c$ YZ$ XVYV$ ^chiVaVX^�c+$ aV$ hZ~Va$

\ZcZgVYV$hZ$ejZYZ$ji^a^oVg$eVgV$YZiZcZg$Za$Zfj^ed$

d$eVgV$XdggZ\^g$Vjidb{i^XVbZciZ$Za$Va^cZVb^Zcid$

YZ$aV$XdggZV-

J?H69EH;I$9;$867B;I$;N

Gdh$ i^gVYdgZh$ YZ$ XVWaZ$ Am$ hdc$ VYZXjVYdh$ Zc$

igVchYjXidgZh$eVgV$VggVcXVg$b{fj^cVh$d$eVgV$VWg^g$

n$ XZggVg$ejZgiVh+$edgidcZh$ n$WVggZgVh$ VXX^dcVYdh$

Za|Xig^XVbZciZ-$Gdh$i^gVYdgZh$YZ$XVWaZ$hZ$VXX^dcVc$

i^gVcYd$YZ$Zaadh$bVcjVabZciZ-

;;N$40$M>*4+ ;;N$1,$MP

;;N$1,$P

GV$ ji^a^oVX^�c$ YZ$ adh$ hZchdgZh$ bV\c|i^Xdh$ Am$ Zh$
ZheZX^VabZciZ$kZciV_dhV$XjVcYd$aVh$ XdcY^X^dcZh$
YZ$ igVWV_d$ hdc$ YZ$ bjX]V$ hjX^ZYVY$d$ XjVcYd$ hZ$
gZfj^ZgZ$ bVciZcZg$ Vaidh$ c^kZaZh$ YZ$ ]^\^ZcZ-$ Nj$
VYZXjVX^�c$hZ$Xdch^\jZ$edg$aV$hZcX^aaZo$n$ejaXg^ijY$
YZ$ hj$ Y^hZ~d-$ Nj$ ZaZkVYV$ XaVhZ$ YZ$ egdiZXX^�c$
aVh$ ]VXZ$ bjn$ VYZXjVYdh$ eVgV$ hj$ ji^a^oVX^�c$ Zc$
^ciZbeZg^Z-

Gdh$hZchdgZh$bV\c|i^Xdh$hZ$VXX^dcVc$V$egdm^b^YVY$
edg$^bVcZh$eZgbVcZciZh-

;;N$H8$C-+

;;N$H8$,-;;N$H8$,0

;;N$H8$,.(0

;;N$PI$4+$IH ;;N$PI$20$IH

;;N$PI$2.$IH;;N$..0$/LIH
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;;N$=<? ;;N$=<$-
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Gdh$ ^ciZggjeidgZh$ YZ$ eZYVa$ Am$ hZ$ bdciVc$ Zc$

b{fj^cVh$Z$̂ chiVaVX^dcZh$Zc$adh$XVhdh$Zc$fjZ$cd$Zh$

edh^WaZ$ji^a^oVg$aVh$bVcdh-$NZ$ZbeaZVc$eVgV$^c^X^Vg$

n$YZiZcZg$deZgVX^dcZh$n$egdXZhdh$YZ$egdYjXX^�c-$

Ac$[jcX^�c$YZ$aVh$XdcY^X^dcZh$VbW^ZciVaZh$n$YZ$aVh$

iVgZVh$bZX{c^XVh+$hZ$ZbeaZVc$Y^hi^ciVh$kZgh^dcZh$

YZ$^ciZggjeidgZh$YZ$eZYVa-$

OdYdh$ adh$ ^ciZggjeidgZh$ YZ$ eZYVa$ Am$ Zhi{c$

Y^hedc^WaZh$ Xdc$ eZYVaZh$ b�ai^eaZh-$ Gdh$

^ciZggjeidgZh$ YZ$ eZYVa$ hZ$ hjb^c^higVc$ Xdc$ jc$

ZhXjYd$YZ$egdiZXX^�c$fjZ$Zk^iV$hj$VXX^dcVb^Zcid$

VXX^YZciVa-$ Gdh$ ^ciZggjeidgZh$ YZ$ eZYVa$ Am$ YZ$ aVh$

hZg^Zh$ AAm+$CB+$CBE+$CBN$n$CBNE$ Zhi{c$Y^hedc^WaZh$

Xdc$VXX^�c$aZciV$d$h�W^iV-

Gdh$ hZchdgZh$ ^cYjXi^kdh$ Am$ hZ$ ji^a^oVc$ Zc$

XdchigjXX^�c$YZ$bVfj^cVg^V+$^cYjhig^Vh$YZa$hZXidg$

iZgbdea{hi^Xd+$ bVfj^cVg^V$ iZmi^a+$ ^cYjhig^Vh$

YZ$ egdXZhVb^Zcid$ YZ$ aV$ bVYZgV$ n$ cjbZgdhdh$

h^hiZbVh$YZ$aV$^cYjhig^V$Vjidbdig^o+$e-$Z_-$hZchdgZh$

YZ$gZ[ZgZcX^V$Zc$h^hiZbVh$YZ$gdW�i^XV+$Vh}$Xdbd$Zc$

aV$^cYjhig^V$YZ$egdXZhVYd$YZ$Va^bZcidh$Z$^cYjhig^V$

fj}b^XV-

Gdh$ hZchdgZh$ ^cYjXi^kdh$ Am$ hdc$ Y^hedh^i^kdh$

ZaZXig�c^Xdh-$ EcXajhd$ Zc$ aVh$ XZgXVc}Vh$ YZ$

bViZg^VaZh$ XdcYjXidgZh$ YZ$ aV$ ZaZXig^X^YVY$ fjZ$

eZcZigZc$ Zc$ hj$ XVbed$ YZ$ VXX^�c+$ Xdci^c�Vc$

igVWV_VcYd$ ZaZXig�c^XVbZciZ+$ h^c$ cZXZh^YVY$ YZ$

XdciVXid$ [}h^Xd-$O^ZcZc$edg$ad$ iVcid$jcV$k^YV$�i^a$

eg{Xi^XVbZciZ$ ^a^b^iVYV+$YZcigd$YZ$ hj$ gVc\d-$Id$

hdc$ hZch^WaZh$ V$ k^WgVX^dcZh$ n$ gZVa^oVc$ XdciVXidh$

h�a^Ydh$n$hZ\jgdh-

Gdh$ hZchdgZh$ ^cYjXi^kdh$ Am$ Zhi{c$ Y^hedc^WaZh$

Zc$ Xdc_jcid$ Xdc$ Za$ b�Yjad$ gZa|$ AAm$MH$ 0R0-$ Aa$

b�Yjad$gZa|$ejZYZ$eZY^ghZ$eVgV$gZYZh$Za|Xig^XVh$

YZ$13$Q??$n$YZ$12/$Q?=-$

;;N$?I$C,-$7 ;;N$?I$C,3$7

;;N$?I$C.+$7 ;;N$?I$C,-$D7

;;N$HC$,M$,
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Idhdigdh$ gZVa^oVbdh$ YZ$ [dgbV$ ^cY^k^YjVa^oVYV$

k^hjVa^oVYdgZh$ \gVX^Vh$ V$ cjZhigV$ ZmeZg^ZcX^V$

n$ ^YZci^[ ^XVbdh$ aVh$ cZXZh^YVYZh$ YZ$ cjZhigdh$

Xa^ZciZh+$ Vh}$ Xdbd$ aVh$ �ai^bVh$ iZXcdad\}Vh$ n$ aVh$

hdajX^dcZh$YZ$hd[ilVgZ$hiViZ,d[,i]Z,Vgi-

@ZhYZ$ cjZhigV$ XZcigVa$ Zc$ CgV[Zcl�]g$ 'IdgiZ$ YZ$

>VkVg^V($cdhdigdh$ZcigZ\Vbdh$cjZhigdh$egdYjXidh$

YZ$[dgbV$hVi^h[VXidg^V$V$edg$idYd$Za$bjcYd-

=$ igVk|h$ YZa$ XdciVXid$ Y^gZXid$ Xdc$ cjZhigdh$

Xa^ZciZh+$ cdhdigdh$ \VgVci^oVbdh$ jcV$ Xdci^cjV$

ZkdajX^�c$i|Xc^XV$n$ZXdc�b^XV-$

<NL\]ZJ!J!UJZPJ[!MR[\JWLRJ[&&&

\VgVci^oVc$ aV$ igVch[ZgZcX^V$ YZ$ ^c[dgbVX^�c$ Va$

bVndg$cjbZgd$YZ$eZghdcVh-

W]N[\ZX[!MR[YUJ`[!PRPJW\N[!RW\NURPNW\N[&&&

dei^b^oVc$ aV$ ^c[dgbVX^�c$ ZcigZ$ Za$ ]dbWgZ$ n$ aV$

bVfj^cV-

@ZXM]LLRXWN[&&&

gVe^YZo+$ Z[^X^ZcX^V$ n$ hZ\jg^YVY$ \gVX^Vh$ V$ aV$

iZXcdad\}V$YZ$cjZhigdh$Y^heaVnh-

ZNJLLRXWN[!`!JL\]JLRXWN[!NW!NU!\ZJKJSX&&&

hdc$jcV$\gVc$bZ_dgV$Zc$aV$VXijVa^oVX^�c$YZ$YVidh-

I;=KH? 969$O$<B;N? 7 ?B ?969)) )$
9 ?IFB6OI$= ? =6DJ;I$

CNP]ZRMJM!NW!YZXLN[X[!MN!YZXM]LLRjW&&&

Zh$edh^WaZ$aaZ\Vg$Zc$Za$bdbZcid$egZX^hd-

9WOXZVJLRjW!^R[RKUN!`!VX\R^JLRjW&&&

edh^X^dcVb^Zcid$ZmVXid$YdcYZ$Zh$gZfjZg^Yd-



1,

KgdYjX^bdh$ cjZhigVh$ \gVcYZh$ eVciVaaVh$

bdYjaVgZh$Zc$ XjVafj^Zg$ Xdc[^\jgVX^�c$n$ iVbV~d$

YZhZVYdh-$ Kdg$ idYVh$ZhiVh$ hdajX^dcZh$ZheZX}[^XVh$

fjZ$ ZhiVbdh$ ji^a^oVcYd$ adh$ XdbedcZciZh$ YZa$

h^hiZbV$Zhi{cYVg-$

IjZhigVh$eVciVaaVh$ejZYZc$hZg$^ciZ\gVYdh$YZcigd$

YZ$ XVh^$ XjVafj^Zg$ {gZV$ YZ$ aV$ egdYjXX^�c$ n$ YZ$ aV$

eaVciV-$ DVc$ h^Yd$ Y^hZ~VYdh$ YZ$ iVa$ bVcZgV$ fjZ$

ejZYVc$ hZg$ [{X^abZciZ$ VXijVa^oVYd$ d$ Vbea^VYd-$

KjZYZc$ XdcZXiVghZ$ V$ Y^[ZgZciZh$ h^hiZbVh+$

b{fj^cVh+$ XdbedcZciZh+$ gZYZh$ n$ ZhigjXijgVh$YZ$

egdidXdad$h^c$c^c\�c$egdWaZbV-

Ac$XdchZXjZcX^V+$cjZhigdh$Xa^ZciZh$cd$hZ$a^b^iVc$Va$

eaVc^[^XVg$hj$egde^V$eVciVaaV$̂ cY^k^YjVa-$$?dcXZeidh$

^ccdkVYdgZh$ ^ciZgcVX^dcVaZh$Zc$idYd$Za$bjcYd$V$

egjZWV$cjZhigV$XVeVX^YVY$n$Z[ ^X^ZcX^V--

NdajX^dcZh$ eVgV$ aV$

^cYjhig^V+$ Vh}$ Xdbd$

egdYjXidh$ [VWg^XVYdh$

Zc$ hZg^Z+$ Y^hZ~VYdh$

eVgV$ hVi^h[VXZg$ aVh$

cZXZh^YVYZh$ YZa$

Xa^ZciZ-

?aVgVbZciZ$ aZ\^WaZ$

V$ aVg\Vh$ Y^hiVcX^Vh$ n$

eZgXZei^WaZ$V$h^beaZ$k^hiV-

NZ$ ejZYZc$ dWiZcZg$ h^hiZbVh$ XdbeaZidh+$

^ccdkVYdgZh+$ n$ hZcX^aadh$ ^cXajnZcYd$ Za$ hd[ilVgZ$

YZa$K?$n$aV$XdcZm^�c$V$h^hiZbVh$bVhiZg-

Hdi^kVX^�c$YZ$aV$egdYjXX^�c$

Zc$ eaVciV+$ k^hjVa ^oVcYd$ aVh$

ZhiVY^hi^XVh$Y^gZX iVbZciZ-
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IjZhigd$ Zc[dfjZ$ Zc$ aV$ W�hfjZYV$ YZ$ hZ\bZcidh$

YZ$ egdYjXidh$ Zc$ Za$ {gZV$ YZ$ aV$ iZXcdad\}V$

YZ$ eVciVaaVh$ \gVcYZh$ cdh$ eZgb^iZ$ d[gZXZgaZ$

hdajX^dcZh$ ^ccdkVYdgVh$ n$ XdbeaZiVh$ YZhYZ$ jcV$

hdaV$ [jZciZ-$ PhiZY$ ZcXdcigVg{$ jcV$ hZaZXX^�c$

YZ$ cjZhigV$ iZXcdad\}V$ YZ$ eVciVaaV$ OBO-$ EcXajhd$

h^$ jhiZY$ cZXZh^iV$ jcV$ hdajX^�c$ eVgV$ hj$ i^ed$ YZ$

egdWaZbV$ fjZ$ cd$ VeVgZXZ$ Vfj}+$ ejZYZ$ edcZghZ$

Zc$XdciVXid$Xdc$cdhdigdh-

F6DJ6BB6I$?D9KIJH?6B;I$J<J$9;$6BJ6$86B?969$

PcV$ eVciVaaV$ OBO$ Zh$jc$bdc^idg$ fjZ$ [jcX^dcV$ hZ\�c$ Za$ eg^cX^e^d$ YZ$ aV$ eVciVaaV$ YZ$ Xg^hiVa$ a}fj^Yd$n$ cd$

Xdbd$ bdc^idgZh$ XdckZcX^dcVaZh+$ [jcX^dcVc$ Xdc$ ]Vo$ YZ$ ZaZXigdcZh-$ Ahidh$ bdc^idgZh$ OBO$ i^ZcZc$ jcV$

kZciV_V$YZX^h^kV$Zc$XdbeVgVX^�c$Xdc$adh$bdc^idgZh$XdbjcZh9$Zb^iZc$XVci^YVYZh$bjn$WV_Vh$YZ$gVY^VX^�c$n$

egdiZ\Zg$adh$d_dh$YZa$dWhZgkVYdg-$Kdg$digV$eVgiZ+$aV$edh^W^a^YVY$YZ$jcV$bVcX]Vh$eZgbVcZciZ$Z$^ggZkZgh^WaZ$

Zc$aV$eVciVaaV$hZ$YZhXVgiV$Xdc$aV$VnjYV$YZ$aV$iZXcdad\}V$b{h$bdYZgcV-$

IjZhigVh$ eVciVaaVh$ OBO$ iVbW^|c$ hZ$ Y^hi^c\jZc$ edg$ hj$ZmXZaZciZ$ XVa^YVY$ n$ aV$ �ai^bV$ iZXcdad\}V$ eVgV$ jc$

jhd$ Xdci^cjVYd$V$ aVg\d$eaVod-$IjZhigd$OBO$ hdc$ a}YZgZh$YZ$ aV$ ^cYjhig^V+$ ZheZX^VabZciZ$ Xdc$ gZheZXid$V$ aV$

ajb^cdh^YVY+$Za$XdcigVhiZ+$aV$gZhdajX^�c$n$adh${c\jadh$k^hjVaZh-



1.

@^heaVnh$YZ$jcV$d$b�ai^eaZh$XVgVh-

Ix$YZ$a}cZVh$0---c-

=H[ <?8E$9; $76HH 6IDKC \H ?8E 6B< 6DK C \H ?8 E

EciZg^dg

GA@ GA@ G?@ GA@ G?@ G?@GA@

14+$27+
5/+$0//+$
04/+$1//+$
14/+$2//+$
4//+$64/+$

0///

5/+$0//+$
04/+$1//+$
14/+$2//+$
4//+$64/+$

0///

07+$24+$5/+$
0//+$01/+$

1//
AmiZg^dg$
5/+$01/

11$,$2// ?jVafj^Zg$
gZhdajX^�c

?jVafj^Zg$
gZhdajX^�c

0/4+$05/+$
14/+$2/4+$
35/+$48/+$

0///

11$W^h$
2//

EciZg^dg EciZg^dgAmiZg^dg AmiZg^dg AmiZg^dgAmiZg^dg

AaZXigd,
bV\c|i^Xd

AmiZg^dg

?jVafj^Zg$
gZhd ajX ^�c

?jVafj^Zg$
gZhd ajX ^�c

?jVafj ^Zg$
gZhdajX^�c

?jVafj ^Z g$
gZhd ajX ^�c

6BJKH 6$H;8 EC;D 9696$9; $BEI$9 ]= ?JEI

=YVeiVX^�c$hZ\�c$gZfjZg^b^Zcid$Xa^ZciZ-

;DJH 696$9; $96JEI

=ea^XVX^�c$gZXdbZcYVYV

J? FE

86H 68 J;H ]IJ?8 6I

Ix$YZ$Y}\^idh$0---c-

@}\^idh$jc$Xdadg-$

@}\^idh$bjai^Xdadg$hZaZXX^dcVWaZ$Xdadg-

HViZg^Va$YZ$aV$XVgXVhV$VXZgd.^cdm.Vajb^c^d-

?dadg$YZ$aV$XVgXVhV$hZ\�c$gZfjZg^b^Zcid-

Nj_ZXX^�c$YZa$Zfj^ed$hZ\�c$gZfjZg^b^Zcid-

KgdiZXX^�c$YZ$aV$XVgXVhV$EK43.EK54-

OZmidh$hZ\�c$gZfjZg^b^Zcid-

B^aigd$Vci^gZ!Z_VciZ$Zc$aV$eVciVaaV-

MVc\d$YZ$iZeZgVijgV$/---*4/x$?-

MVc\d$YZ$iZeZgVijgV$,14---*5/x$?-

=a^bZciVX^�c$13Q@?.8/---153Q=?-

HVgXV_Z$?A-

BVWg^XVX^�c$hZ\�c$gZfjZg^b^Zcid$YZa$Xa^ZciZ-

>?@-

=cVa�\^Xd-

AcigVYV$YZ$^bejahd$'?dciVYdg(-

HZY^X^�c$YZ$[gZXjZcX^V$'jc^YVY$YZ$i^Zbed(-

EciZg[VXZ$hZg^Z$MN121+$MN374+$MN311+$OOT-

Kgd#cZi-

Kgd#Wjh,@K$'je$id$01$HW^ih.h(-

EciZgWjh,N-

?Vc$JeZc-

@Zk^XZIZi-

=N,^ciZg[VXZ-

R^gZaZhh$YViV$igVchb^hh^dc-

NZchdg$YZ$iZbeZgVijgV-$'Z-_-$KO$0//+---(-

@^hedh^i^kd$YZ$ZcigVYV$YZ$YVidh.FZn,eVY-

K?$hd[ilVgZ-

HZbdg^V$YZ$iZmid$̂ ciZ\gVYd-

Ai]ZgcZi$O?K.EK$'*$l^gZaZhh(-

=aijgV$YZ$Y}\^idh$Zc$bb

OZXcdad\}V

EL;HL?;M

>^cVg^d >^cVg^d

07$bb

6$b

14$bb

0/$b

24$bb

04$b

0//$bb

14$b

01/$bb

3/$b

04/$bb

4/$b

1//$bb

5/$b

14/$bb

7/$b

2//$bb

0//$b

4//$bb

01/$b

64/$bb

1//$b

0///$bb

@^hiVcX^V$YZ$aZXijgV

=aijgV$Y}\^idh

2//$b

5/$bb

3//$b

GV$YZhXg^eX^�c$\ZcZgVa$ejZYZ$XVbW^Vg$YZW^Yd$V$jc$Xdci^cjd$YZhVggdaad$Z$^ccdkVX^�c$Zc$cjZhigV$\VbV$YZ$

egdYjXidh-$
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